Grooved Products

G Vzpenua cnazamn
@ Yivli Griinler

Couplings

MybTbl P. 8.002
Kaplinler

Flanges

OnaHubl P. 8.011
Flanslar

Fittings
OUTUHIK P. 8.016
Fitingler

Branch Outlets
BbixoaHble oTBepCTMA ANA BETBEN P 8.033
Mekanik Tee’ler (Hirsiz Kelepce)

Sprinkler Fittings
FapHUTYpa AnA CNprHKNepoB P 8.035
Sprinkler Kelepceleri

Gaskets

Mpoknagkn P 8.036
Contalar

Lubricant

CMmaska P. 8.038

Nemlendiriciler

Pipe Preparation Tools
WNHCTpYMEHT fns NoAroToBKY TPY6 P 8.039
Boru hazirlama aletleri

Tyco Building Services Products 8.001

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Couplings

O Myo
® Kaplinler

Rigidlite Coupling Rigid Figure 577
»KecTkas mydra Rigidlite, nos. 577 P 8.003
Rigidlite kaplin, sabit, Figure 577

Lightweight Coupling Flexible Figure 705
JlerkosecHas rnbkas mydra, nos. 705 P 8.004
Hafif kaplin, esnek, Figure 705

Stainless Steel Coupling Lightweight Flexible Figure 405
JlerkoBecHas rmbkas mydra U3 HepkaBelolLei ctanu, nos. 405 P 8.005
Paslanmaz celik kaplin, hafif, esnek, Figure 405

Stainless Steel Coupling Rigid Figure 472
KecTkaa mydTa 13 HepKaBetoLLen cTanu, nos. 472 P. 8.006
Paslanmaz celik kaplin, sabit, Figure 472

Heavy Duty Coupling Flexible Figure 707
[nbkasa mydTa ana TAXKeNoro pexunma, nos. 707 P 8.007
Yuksek Basinc icin tasarlanmis kaplin, esnek, Figure 707

Heavy Duty Coupling Rigid Figure 772
»KecTkasa MmydTa Ana TAKenoro pexnma, nos. 772 P 8.008
Yuksek Basinc icin tasarlanmis kaplin, sabit, Figure 772

Reducing Coupling Flexible Figure 716
MepexogHas rnbkas mydra, nos. 716 P. 8.009
Reduksiyon kaplin, esnek, Figure 716

Continuity Clip
CnnowHo 3aXnm P. 8.010
Toprak klipsi

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products 8.002




Couplings, Rigidlite Coupling, Rigid

@@ Myodrbi, mydrei Rigidlite, )ectkmne My
@ Kaplinler, Rigidlite kaplin, sabit

Tyco BSP Nominal Pipe Max.Wk Max.End Range of Pipe End Coupling Coupling Bolts  Approx
Art. No. Size OD Pressuret Loadt Separationt Dimensions BonTbl MydThI Weight
HoMuHanbHbIi BHew. anam.  Makc. pa6. Makc. KoHuUeBaa [nanasoH 3HaueHni Pa3mepb! My bl Kaplin civatalar TMpn6an3. sec
AvameTtp TPyO6bI fasnenve t Harpyskat ~ pasfieneHnA Ha KoHLax TPYy6 ¥ . Q t Size Yaklasik agirlk
Anmaboyu  BoruOD  Azamicalisma Azami ug yuikil Azami ve asgari boru sonu Kaplin ebatlar n
basincit araligik A B C Kggézo Onametp
mm [“] mm bar [psil kN mm mm mm mm kg

577ME0034* 25 [1] 33.7 20.7 [300] 1.81 0-1.5 59 95 42 2 M10x57 0.5
577ME0042* 32 [1.1/4] 42.4 20.7 [300] 2.89 0-1.5 68 107 42 2 M10x57 0.6
577ME0048* 40 [1.1/2] 48.3 20.7 [300] 3.78 0-1.5 74 M3 42 2 M10x57 0.7
577ME0060* 50 [2] 60.3 20.7 [300] 5.91 0-1.5 86 127 43 2 M10x57 0.8
577ME0073* 65 [2.1/2] 73.0 20.7 [300] 8.66 0-1.5 99 138 45 2 M10x57 0.9
577ME0076* 65 [2.1/2] 76.1 20.7 [300] 9.41 0-1.5 101 142 45 2 M10x57 0.9
577ME0089* 80 [3] 88.9 20.7 [300] 12.84 0-1.5 114 156 45 2 M10x57 1.5
577MEO0114* 100 [4] 114.3  20.7 [300] 21.22 0-4.8 145 191 47 2 M10x57 1.5
577ME0139* 125 [5] 139.7  20.7 [300] 3170 0-4.8 173 222 49 2 M12x76 2.4
577ME0141* 125 [5] 141.3  20.7 [300] 32.44 0-4.8 174 224 49 2 M12x76 2.4
577ME0165* 150 [6] 165.1 20.7 [300] 44,28 0-4.8 198 248 49 2 M12x76 2.6
577ME0168* 150 [6] 168.3  20.7 [300] 46.00 0-4.8 201 251 49 2 M12x76 2.7
577ME0219* 200 [8] 219.1 20.7 [300] 7797 0-4.8 260 325 61 2 M16x83 5.3

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish

* =1 - oThenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyXeHnemM B pacnias

* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

Note: The Fig. 577 Lightweight Rigid Coupling does not provide compensation for pipe system expansion and/or contraction associated

with pipe system temperature changes.

Mpumeyanve: [na nos. 577 'TlerkoBecHasn xecTkas MydTa' He NprBeAeHa KOMNEHCaUmMA AN pacluvpeHna CUCTeMbl TPy6ONPOBOAOB U/UNKN CKaTUA, CBA3AHHOTO C
V3MEHEeHVAMM TemnepaTypbl B chcTemMe Tpy6GonNpoBoAos.

Not: Fig 577 hafif sabit kaplin boru sistemin isi degismesinden kaynaklanan agilma veya ¢ekilmeyi dengelememektedir.

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

1: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe
materials and/or wall thickness. ContactTyco BSP for details. For fire protection equipment listing and approval pressure ratings contactTyco BSP.
$: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

O6Lwme 3ameyaHma:ononHuTenbHas MHGOPMALMA BKOUEHA B HALWM crieyudrKaumm 1 NpeaocTaBnaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP n3genuii,
nNpUroaHbIX AnAa I'Ipe[ZlyCMOTpeHHOﬁ uenn, N NpuHATE Mep No HeaonyLeHNo NpeBbIleHNnA HOMUHaNbHbIX 3HaueHun AaBneHnAa un
NpPOuU3BOANTENLHOCTY HeceT MpoeKTUpoBLUK. O6A3aTeNbHO NPOUTUTE UHCTPYKLIMIO MO YCTaHOBKE U SKCnyaTauun. Hu B Koem ciyyae He
BbIHMMaliTe KOMMOHEHTbI TPYHONPOBO/a, @ Takxe He NCNpaBnAiiTe HapyLeHnA B TPy6ONpPOBOAEe NpeaBapuTeNbHO He MOHU3NB AaBlieHne B cucTeMe
1 He CAINB U3 Hee XNAKOCTb. Bbibnpaemble Matepuranbl v MPOKNagKy HY)HO CBEPATbL C NepeyHeM PeKOMeH/yeMbIX 1A KOHKPETHOTO NPUMEHeHNA
NPOKNAAOK.

1: MakcmanbHoe aaBneHve 1 KOHLEBas Harpyska NpeacTaBnaioT cO60 CyMMy BCEX Harpy3okK C y4eTOM CTasibHOW TPy6bl CTaHAAPTHON Macchbl. HoMVHanbHble
3HAYEHUA AaBNEHNA 1 KOHLEBAA Harpyska MOryT GbITb Pa3NMYHbBIMK B 3aBUCUMOCTI OT MaTepuana Tpy6 n/unm TONLLMHbBI CTEHOK. 3a NepeyHem NPOTHBOMNOXaPHOTO
060pPYA0BaHNA 1 YTBEPKAEHHBIMU HOMUHANbHBIMU 3HAYEHNAMM faBneHusa obpatyainTtecs B Tyco BSP.

$: MakcvManbHbIii OTCTYN OT KOHLA TPY6bl NpelycMOTPeH ANs pa3pe3aHHbiX TPY6 CTaHAaPTHOW MacChl C Ma30BbIMU COeNHERNAMN. 3HaueHua ansa Tpy6 ¢
xonofHoAepOPMMPOBaHHBIMM Ma3amu paBHbl 1/2 3HaueHUi TPY6 € HApe3HbIMM Ma3amu.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama icin uygun Giriinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi igin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi
gerekmektedir.

1: Azami basing ve ug parcalarin tistiindeki yiik standart agirlikli gelik borusuna baglidir. Basing yiikseklikleri ve ug yliklemeleri boru maddesine ve duvar kalinligina gére
degisebilir. Daha fazla ayrinti igin Tyco BSP ile irtibata geciniz. Yangin koruma ekipmanlarin onaylar ve basing sinirlari igin Tyco BSP ile irtibata gegin.
SEE LAST SENTENCE

$: Azami kor tapa. Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin degerlerinden %50 azdir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Couplings, Lightweight Coupling, Flexible

@ MydTbI, nerkoBecHble mydTbl, rM6Kue
@ Kaplinler, hafif kaplin, esnek

FIG. 705

Tyco BSP Nominal ~ Pipe  Max.Wk Max. End Range of Pipe End Deflection Coupling Coupling Bolts Approx

Art. No. Size 0D  Pressuret Loadt Separationt OtkrioHetive Dimensions bonTbl My Weight
HomuHanbHbii - BHew. Makc. pa6. Makc. KoHueBas [lMana3o 3HaueHmii Sehim Pasmepbl My$TbI Kaplin civatalar Mpn6nn3. sec

ARmaBS BB OD ABicaicma  AdBTUCyOKG  Admve ssgr b PerCoupling  Pipe - Kaplin ebatlan Qnt Size Yaklasik
basmcﬁs' sonu araligi Hamyory  TpyGa Kon-8o agirlik
. Kaplin basina  Boru A ] C Aded

mm [“] mm  bar [psi] kN ° mm/mirs MM mm mm mm kg

705ME0042*% 32 [1.1/4] 42.4 34.5[500] 4.81 0-3.3 4719’ 75.0 65 106 46 2 M10x57 0.7
705ME0048* 40 [1.1/2] 48.3 34.5[500] 6.30 0-3.3 3°46' 65.8 70 113 46 2 M10x57 0.7
705ME0060* 50 [2] 60.3 34.5 [500] 9.85 0-3.3 3°01' 525 83 124 48 2 M10x57 0.8
705ME0073* 65 [2.1/2] 73.0 34.5[500] 14.43 0-3.3 2°29' 43.3 94 140 48 2 M10x57 0.9
705ME0076* 65 [2.1/2] 76.1 34.5[500] 15.72 0-3.3 2°23' 417 102 146 48 2 M12x76 14
705ME0089* 80 [3] 88.9 34.5[500] 21.34 0-3.3 2°03' 358 111 165 48 2 M12x76 14
705ME0108* 100 [4] 108.0 34.5 [500] 31.55 0-6.4 3°22' 58.3 140 191 52 2 M12x76 1.9
705ME0114* 100 [4] 114.3 34.5[500] 35.35 0-6.4 311 55.8 145 197 52 2 M12x76 1.8
705ME0133* 125 [5] 133.0 31.0 [450] 43.33 0-6.4 2°44' 46.7 167 241 52 2 M16x83 3.3
705ME0139* 125[5] 139.7 31.0 [450] 47.56 0-6.4 2°36' 455 173 248 52 2 M16x83 3.3
705ME0141* 125 [5] 141.3 31.0 [450] 48.63 0-6.4 2°35' 45.0 175 248 52 2 M16x83 3.2
705ME0159* 150 [6] 159.0 31.0 [450] 61.44 0-6.4 217" 40.0 192 262 52 2 M16x83 3.4
705ME0165* 150 [6] 165.1 31.0 [450] 66.36 0-6.4 292" 38.3 197 272 52 2 M16x83 3.2
705ME0168* 150 [6] 168.3 31.0 [450] 68.97 0-6.4 2°10' 375 202 272 52 2 M16x83 3.2
705ME0219* 200 [8] 219.1 31.0 [450] 116.89 0-6.4 1°40' 29.2 259 344 64 2 M20x121 6.6
705ME0273* 250 [10] 273.0 24.1 [350] 141.31 0-6.4 1°20' 23.3 322 416 67 2 M24x165 12.7
705ME0324* 300 [12] 323.9 24.1[350] 198.78 0-6.4 1°07' 19.2 380 480 67 2 M24x165 16.6

* = 1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oThenka c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM MOrpyeHneM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

t: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe

materials and/or wall thickness. ContactTyco BSP for details. For fire protection equipment listing and approval pressure ratings contactTyco BSP.

#: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

O6wie 3ameyaHuna:lononHUTeNbHaA MHGOPMaLIMA BKIOYEHa B HaLLW cneuudrKaLny 1 NpefocTaBAaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP n3aenuii,
NPUrofHbIX ANA NPeAyCMOTPEHHO LIen, N NPUHATVE MeP NO HeLOMYLLEHWIO MPEBbILLEHNA HOMVHAMbHbBIX 3HaYeHUI AaBNeHUA 1
NpPOV3BOAUTENBHOCTYN HeceT MPoeKTUPOBLYMK. OBA3aTENbHO NPOUTUTE MHCTPYKLMIO MO YCTaHOBKe 1 3KCnyaTauun. Hu B Koem ciydae He
BbIHMMaliTe KOMMOHEHTbI TPYHONPOBO/a, @ Takxe He NcnpaBnAiiTe HapyleHnA B Tpy6onNpoBoAe NpeaBapuTeNbHO He MOHU3MB AaBlieHne B cucTeme
1 He C/IUB 13 Hee XNAKOCTb. Bbibrpaemble MaTepuarbl U NPOKNaZIKN HYXHO CBEPATb C NepeyHem PeKOMeH/yeMbIX 11l KOHKPETHOrO NpUMeHeHA
NPOKNafoK.

t: MakcrmanbHoe aaBneHve 1 KOHUEBas Harpyska npeacTaBnaioT Co6oi Cymmy BCeX Harpy3oK C y4eToM CTasibHOW TPy6bl CTaHAapTHOM Macchl. HoMUHanbHble
3HauyeHnA JaBNeHVA N KOHLEBaA Harpy3ka MOryT GbiTb Pa3/IMUHBIMU B 3aBUCUMOCTY OT MaTepuana Tpy6 1/uni TONLLMHbI CTEHOK. 3a NepeyHeM NPOTBOMNOXapPHOToO
060py0BaHNA 1 YTBEPXAEHHBIMU HOMUHANbHBIMW 3HaUeHNAMM AaBneHna obpallaiitecs B Tyco BSP.

$: MakcvManbHblii OTCTYN OT KOHLA TPY6bl NpeycMOTPEH ANA pa3pe3aHHbiX TPY6 CTaHAAPTHOW MacChl C Ma30BbIMU COEANHEHNAMN. 3HaYeHUA Ana Tpy6 C
xonopHoaepopMUPOBaHHBIMI Masamii PaBHbI 1/2 3HaUeHW TPY6 C HaPe3HbIMM Na3amu.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama icin uygun Griinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin pargalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi igin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi

erekmektedir.

t: Azami basing vegug parcalarin tstiindeki ytik standart agirlikli celik borusuna baghdir. Basing yiikseklikleri ve ug yiiklemeleri boru maddesine ve duvar kalinhigina

gore degisebilir. Daha fazla ayrinti i¢in Tyco BSP ile irtibata geginiz. Yangin koruma ekipmanlarin onaylar ve basing sinirlart igin Tyco BSP ile irtibata gegin.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

$: Azami kor tapa kesilerek elde edilen yive sahip standart agirilikl borular icindir. Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin deger-
lerinden %50 azdir.

Tyco Building Services Products




Couplings, Stainless Steel Coupling, Lightweight Flexible

@@ MydTbl, MydTel n3 HepxaBeloweit cTanm, nerkosecHblie ru6Kmne

@ Kaplinler, paslanmaz celik kaplin, hafif, esnek

B C

apW ,
o

Tyco BSP Nominal Pipe  Max.Wk Max. End Range of Pipe End Deflection Coupling Coupling Bolts ~ Approx

o 3 OTKNIOHEHNEe A Bontbl MydTbI H
Art. No. . Sizz. ~ OD  Pressuret Loadt Separationt iy Dimensions Kapimavaian:  Weight
lOMUHanbHbIN  BHeww. Makc. pab. MakKc. KoHUeBas  [luanasoH 3HaueHuii pasaenexusa Per Couplin Pipe Pa3mepbl MydTbI 0 Si Mpubnus.
[nameTp anam. pasneHve t Harpyska t Ha KoHLax Tpy6 + g 9 p Kaplin ebatlar nt ize Bec
Anmaboyu BoruOD Azami calisma Azami ug yuki Azami ve asgari boru Ha my¢ry Tpy6a [Lunametp Yaklasik
basincit sonu araligi¥ Kaplin basina A B C d Boy a?(lrllk

mm [“] mm  bar [psi] kN mm ° / mmmmmm mm mm

405MD00424 32 [1.1/4] 20.7 [300] 2 M10x57

405MD00484 40 [1.1/2] 48.3 20.7 [300] 3.78 0-3.3 3°46' 656.8 70 113 46 2 M10x57 0.7
405MD00604 50 [2]  60.3 20.7 [300] 5.91 0-3.3 3°01" 525 83 124 48 2 M10x57 0.8
405MD00734 65 [2.1/2] 73.0 20.7 [300] 8.66 0-3.3 2°29' 433 94 140 48 2 M10x 57 0.9
405MD00764 65 [2.1/2] 76.1 20.7 [300] 9.43 0-3.3 2°23' 417 102 146 48 2 M12x76 1.4
405MD00894 80 [3] 88.9 20.7 [300] 12.83 0-3.3 2°03' 35,8 111 165 48 2 M12x76 1.4
405MD01144 100 [4] 114.3 20.7 [300] 21.21 0-6.4 311" 55.8 145 197 52 2 M12x76 1.8
405MD01394 125 [5] 139.7 20.7 [300] 31.67 0-6.4 2°36' 455 173 248 b2 2 M16x 83 3.3
405MD01414 125 [5] 141.3 20.7 [300] 32.42 0-6.4 2°35' 45.0 175 248 b2 2 M16x83 3.2
405MD01654 150 [6] 165.1 20.7 [300] 44.24 0-6.4 2°12' 38.3 197 272 52 2 M16x83 82
405MD01684 150 [6] 168.3 20.7 [300] 45.98 0-6.4 2910’ 375 202 271 b2 2 M16x83 3.2
405MD02194 200 [8] 219.1 20.7 [300] 77.92 0-6.4 1°40' 29.2 259 344 64 2 M20x121 6.6

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

t: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe
materials and/or wall thickness. ContactTyco BSP for details. For fire protection equipment listing and approval pressure ratings contactTyco BSP.

$: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

O6uwme 3ameyaHna:ononHuTenbHaa MHGOPMaLIVA BKIOYEHa B HalM crielurKaLmn v npeaocTaBnaeTca no 3anpocy. OTBeTCTBEHHOCTb 3a BbIGOp n3genuii,
NPUroAHbIX AN1A NPefyCMOTPEHHO LIeNn, N NPUHATE Mep MO HEAONYLLEHNIO NPEBbILIEHNA HOMVHANbHBIX 3HAaYEHUIA aBNeHNA N
NPOU3BOANTENBHOCTY HeceT MPoeKTUPOBLYMK. O6A3aTENbHO NPOUTUTE UHCTPYKLMIO MO YCTAaHOBKE U SKCNyaTauun. Hu B Koem ciyyae He
BbIHMMalTe KOMMOHEHTbI TPYBONPOBOAa, @ TaKKe He NCNpaBnAiTe HapyLLeHWA B TPy6ONPOBOAE NPeABapuTENbHO He MOHU3WB AaBMIEHNE B CUCTEME
1 He CAIMB U3 Hee XNAKOCTb. Bbibrpaemble MaTepuranbl v MPOKNAAKY HYXKHO CBEPATD C MepeUHeM PEKOMEH/YEMbIX /1A KOHKPETHOTO NPUMEHeHNA
NPOKNaAoK.

t: MakcrmanbHoe AaBneHve 1 KOHLeBas Harpyska npeacTaBnaioT Coboi Cymmy BCeX Harpy3oK C y4eTOM CTasibHOW TPy6bl CTaHAaPTHOM Maccbl. HOMUHanbHble
3HayeHuA AaBneHnA N KoHLUEeBaA Harpy3ka moryTt 6bITb PasnnyHbIMX B 3aBUCUMOCTU OT MaTepurana pr6 n/vinn TOJIWWHDbI CTEHOK. 3a nepeyHem NpoTNBOMOXapHOro
060pyAOBaHUA 1 YTBEPXKAEHHBIMU HOMVHANbHBIMM 3HaYeHAMM AaBneHnsa obpaluaiTecs B Tyco BSP.

$: MakcrManbHbIii OTCTyn OT KOHLa TPy6bl NpealycMOTPeH Ans pa3pe3aHHbIX TPY6 CTaHAaPTHOM MacChl C Na30BbIMU COEANHEHUAMM. 3HaueHnsA Ana Tpy6 ¢
xonopHoaepopMUPOBaHHbLIMIA Nazamit PaBHbI 1/2 3HaYeHW TPY6 C Hape3HbIMU Nasamu.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama igin uygun Griinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi icin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi
gerekmektedir.

1: Azami basing ve ug pargalarin Gstiindeki ytik standart agirlikli celik borusuna baglidir. Basing yiikseklikleri ve ug yiiklemeleri boru maddesine ve duvar kalinligina

gore degisebilir. Daha fazla ayrinti i¢in Tyco BSP ile irtibata geginiz. Yangin koruma ekipmanlarin onaylar ve basing sinirlart icin Tyco BSP ile irtibata gegin.

$: Azami kor tapa kesilerek elde edilen yive sahip standart agirilikl borular icindir.Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin degerle-
rinden %50 azdir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Couplings, Stainless Steel Coupling, Heavy Duty Rigid

@@ Myodbl, Mmydra 3 HepkaBelowei cTany, XKecTKas ANA TAKENOro PeXUMa

@ Kaplinler, paslanmaz celik kaplin, Yuksek Basinc icin uygun, sabit

Tyco BSP Nominal Pipe Max. Wk Max. End Range of Pipe End Coupling Coupling Bolts Approx
Art. No. Size 0D Pressuret Loadt Separationt Dimensions T OT Weight
HomuHanbHbli BHew. Makc. pa6. Makc. KoHueBas [lnana3oH 3HaueHwin Pasmepbl MydTbI - Mpun6nu3. Bec
AviameTp Aviam. AaBneHve t Harpyska t paspeneHna Ha KoHuax Tpy6 F Kaplin ebatlari Qnt S|Ze .
Anma boyu Boru OD Azami calisma Azami ug yuka Azami ve asgari boru sonu Kon-o [Nuametp Yaklasik agirlik
o basincit, araligi A B C Aded B
mm [“] mm bar [psi] kN mm mmmmmm mm kg
475MD00424 32 [1.1/4]  42.4  20.7 [300] 2.89 0-1.5 70 1M1 46 2 M10x57 0.5
472MD00484 40 [1.1/2] 483  20.7 [300] 3.79 0-2.0 76 17 46 2 M10x57 0.5
472MD00604 50 [2] 60.3  20.7 [300] 5.91 0-3.3 87 130 48 2 M10x57 0.7
472MD00734 65 [2.1/2]  73.0  20.7 [300] 8.67 0-33 99 143 48 2 MI0x57 11
472MD00764 65 [2.1/2]  76.1  20.7 [300] 9.44 0-3.3 106 145 48 2 M10x57 1.2
472MD00894 80 [3] 88.9  20.7 [300] 12.84 0-3.3 118 159 48 2 M12x76 1.2
472MDOM44 100 [4]  M4.3  20.7 [300] 21.23 0-4.8 148 191 50 2 M12x76 1.6
472MD0139%4  125[5]  139.7  20.7 [300] 3171 DAL 178 247 52 2  M16x83 34
472MD01414  125[5] 1413 20.7 [300] 3244 0-4.8 180 247 52 2 M16x83 3.4
472MDO1654 150 [6]  165.1  20.7 [300] 44.28 0-4.8 206 268 54 2 M16x83 3.4
472MD01684 150 [6]  168.3  20.7 [300] 46.00 0-4.8 206 268 54 2 M16x83 3.4
472MD02194  200[8]  219.1  20.7 [300] 77.97 0-4.8 268 344 67 2 M20 x 121 8.2
472MD02734 250 [10]  273.0  20.7 [300] 121.12 0-3.3 326 417 67 2 M24x 165 1.2
472MD03244 300 [12] 3239  20.7 [300] 194.38 0-33 391 479 67 2 M24x165  19.1
Note: The Fig. 472 Lightweight Rigid Coupling does not provide compensation for pipe system expansion and/or contraction associated

with pipe system temperature changes.

Mpumeyanvie: [na nos. 472 'NlerkoecHas xecTkaa MypTa' He NpuBefeHa KOMNEHcaUUaA ANA PacLUMPEHUA CUCTEMbI TPYBONPOBOAOB U/VAIN CKaTWA, CBA3AHHOTO C
V3MEeHeHUAMY TemrepaTypbl B cucTeme Tpy6ornpoBoaoB.

Not: Fig 472 hafif sabit kaplin boru sistemin 1si degismesinden kaynaklanan agilma veya ¢ekilmeyi dengelememektedir.

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

t: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe
materials and/or wall thickness. ContactTyco BSP for details. For fire protection equipment listing and approval pressure ratings contact Tyco BSP.

$: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

Ob6uwye 3ameyaHunsa:lononHUTeNbHaA MHGOPMaLMA BKIOYEHa B HalLM cneumuKauny 1 NpefocTaBiAaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP nU3aenuii,
NpUrofHbIX ANA NPeyCMOTPEHHO Lienk, N NPUHATVE Mep NO HefJoMYLLEHWIO NPEBbILIEHNA HOMUHAMbHbIX 3HaYeHUI AaBNeHUs 1
NpoV3BOAUTENBHOCTYU HeceT MpoeKTUpoBLK. OBA3aTeNIbHO NPOUTUTE MHCTPYKLMIO MO yCTaHOBKe 1 3KCN/yaTauun. Hu B Koem ciydae He
BbIHMMaIiTe KOMMOHEHTbI TPY60NPOBOA], a TakXKe He NCMpaBnAiiTe HapyLeHVA B Toy6onpoBoae NpeABapUTENIbHO He MOHN3MB AaBNeHe B cucteme
1 He CIUB 13 Hee XNAKOCTb. Bbibripaemble MaTepuanbl U NPOKNAZKU HYXHO CBEPATb C NepeyHem PeKOMEeHIyeMbIX 1Al KOHKPETHOTO NpUMeHeHNA
NpPOKNazaokK.

t: MakcrmanbHoe AaBneHve 1 KOHLeBas Harpyska npeacTaBnaioT Coboi Cymmy BCeX Harpy3oK C yHeTOM CTasibHOW TPY6bl CTaHAaPTHOM Macchl. HOMUHanbHble
3HauyeHnA aBNeHA N KOHLEBAA Harpy3ka MOryT GbiTb Pa3fIMUHbIMU B 3aBUCMMOCTY OT MaTepurana Tpy6 n/vni TONLLMHbI CTEHOK. 3a NepeyHeM NPOTVBOMOXapHOToO
060pyaoBaHUA 1 YTBEPXKAEHHBIMU HOMVHANbHBIMUW 3HaYEHAMU JaBneHnsa obpaluaiTecs B Tyco BSP.

$: MakcrManbHblii OTCTyn OT KOHLa TPpy6bl NpeaycMOTpeH Ans pa3pe3aHHbX TPY6 CTaHAaPTHOM MacChl C Na30BbIMU COEANHEHUAMM. 3HaueHnA Ana Tpy6 ¢
XonoaHoAepOPMMPOBaHHBIMU Na3amu paBHbl 1/2 3HaueHWii TPY6 C Hape3HbIMK Na3amu.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama igin uygun Griinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi icin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi
gerekmektedir.

1: Azami basing ve ug pargalarin Ustiindeki ytik standart agirlikli celik borusuna bagldir. Basing yiikseklikleri ve ug yiiklemeleri boru maddesine ve duvar kalinligina

gore degisebilir. Daha fazla ayrinti icin Tyco BSP ile irtibata geciniz. Yangin koruma ekipmanlarin onaylar ve basing sinirlari icin Tyco BSP ile irtibata gegin.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

$: Azami kor tapa kesilerek elde edilen yive sahip standart aginlikli borular icindir. Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin deger-
lerinden %50 azdir.

Tyco Building Services Products




Couplings, Heavy Duty Coupling, Flexible

@ MydT1bl, mydTa Ana TAKeNnoro pexxkuma, rubkas
@ Kaplinler, Yuksek Basinc icin uygun, kaplin, esnek

FIG. 707

Tyco BSP Nominal  Pipe Max. Wk Max.End  Range of Pipe End Deflection Coupling Coupling Bolts Approx
Art. No. Size 0D  Pressuret Loadt Separationt oL Dimensions BonTbi My Weight
HomuHanbHbin  BHew. Makc. pab.  Makc. KoHLeBast [lnanasoH 3xaveuii Per Coupli Pi Pa3mepbl My¢TbI Kaplin civatalar Mpun6nus.
Avametp Avam. AaeneHve Harpyskat  pasjeneHus Ha KoHUax Tpy6 eroupling ipe Kaplin ebatlari Qnt Size Bec
Ha mydry Tpyb6a Yaklasik
Anmaboyu BoruOD Azamigcalisma Azamiugylkii Azamiveasgariboru Kaplinbasina  Boru A B C Kon-so Avaverp agirlik
basincrt_ sonu araligi# Aded Boy
mm [“]  mm  bar [psi] kN mm ° mm/mfrs mm mm mm mm mm kg
707AE0048* 40 [1.1/2] 48.3 12.61 0-3.3 3°46' 65.8 75 118 46 2 M12x76 1.1
707AE0060* 50 [2] 60.3  69.0 [1000] 19.71 0-3.3 3°01' 52.5 90 133 48 2 M12x76 14
707AE0073* 65 [2.1/2] 73.0 69.0 [1000] 28.88 0-3.3 2°29' 43.3 103 146 48 2 M12x76 1.6
707AE0076* 65 [2.1/2] 76.1 69.0 [1000] 31.44 0-3.3 2°23' 417 106 146 48 2 M12x76 1.7
707AE0089* 80 [3] 88.9 69.0 [1000] 42.80 0-3.3 2°03' 358 119 162 48 2 M12x76 1.8
707AE0N4* 100 [4] 114.3  69.0 [1000] 70.75 0-6.4 311" 55.8 151 210 52 2 M16x83 3.2
707AE0141* 125 [5] 141.3  69.0 [1000] 108.12 0-6.4 2°35' 45,0 180 254 52 2 M20x121 4.8
707AE0165* 150 [6] 165.1 69.0 [1000] 147.61 0-6.4 2112 38.3 208 286 52 2 M20x121 5.7
707AE0168* 150 [6] 168.3 69.0 [1000] 152.34 0-6.4 210" 375 211 286 52 2 M20x121 5.7
707AE0219*% 200 [8] 219.1 55.1[800] 207.41 0-6.4 1°40' 29.2 271 356 63 2 M22x165 10.7
707AE0273* 250 [10] 273.0 55.1[800] 322.99 0-6.4 1°20' 23.3 332 418 67 2 M24x165 15.0
707AE0324* 300 [12] 323.9 55.1[800] 454.35 0-6.4 1°07' 19.2 391 479 67 2 M24x165 16.8
707AE0355* 350 [14] 355.6  20.7 [300] 205.43 0-6.4 1°02' 18.3 423 518 75 3 1"x5.1/2 20.0
707AE0406* 400 [16] 406.4 20.7 [300] 268.31 0-6.4 0°54' 15.8 478 575 75 3 1"x5.1/2 23.6
707AE0457* 450 [18] 4572  20.7 [300] 339.58 0-6.4 0°48' 14.2 541 638 78 3 1"x5.1/2 30.8
707AE0508* 500 [20] 508.0 20.7 [300] 419.23 0-6.4 0°43' 125 596 708 78 4 1.1/8"x5.3/4 40.4
707AE0610* 600 [24] 609.6 17.2 [250] 503.08 0-6.4 0°36' 10.8 701 813 78 4 1.1/8"x5.3/4 43.5

* = 1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenka c HaHeceHunem Kpacku RAL3000, 2 - otaenka B BuAe OLMHKOBKM NOTPyXeHNeM B pacrnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

Note: For coupling sizes above 12" bolt sizes only available in ANSI.
Mpumeuanue: [na pasmepoB My¢T 6onee 12" pasmepbl 6ontos nmetotca no ANSI.
Not: 12"den buyiik kaplinler igin civatalar yalnizca ANSI olarak bulunur.

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recom-
mendation listing for the specific application.

1: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe
materials and/or wall thickness. Contact Tyco BSP for details. For fire protection equipment listing and approval pressure ratings contact Tyco BSP.

#: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

O6wie 3ameyaHuna:lononHUTeNbHaA MHGOPMaLIMA BKIOYEHa B HaLLW cneuurKaLny 1 NpefocTaBAaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP n13aenuii,
NPUrofHbIX ANA NPeAyCMOTPEHHO LIenk, N NPUHATVE MeP NO HeOMYLLEHWIO NPEBbILLEHNA HOMVHAMbHbBIX 3HaYeHUI AaBNeHUA 1
NpPOV3BOAUTENBHOCTY HeceT MPoeKTUPOBLYMK. OBA3aTENbHO NPOUTUTE MHCTPYKLMIO MO YCTaHOBKe 1 3KCnyaTauun. Hu B Koem ciydae He
BbIHMMaliTe KOMMOHEHTbI TPYHONPOBO/a, @ Takxke He NcnpaBnaiiTe HapylleHnA B Tpy6onNpoBoAe NpeaBapuTeNbHO He MOHU3NB AaBlieHne B cucTeme
1 He C/IUB 13 Hee XNAKOCTb. Bbibrpaemble MaTepuarbl U NPOKNaZKN HYHO CBEPATb C NepeyHem PeKOMeH/yeMbIX 1l KOHKPETHOrO NpUMeHeHA
NPOKNafoK.

t: MakcrmanbHoe aaBneHve 1 KOHUEBas Harpyska npeacTaBnaioT Co6oi Cymmy BCeX Harpy3oK C y4eToM CTasibHOW TPy6bl CTaHAapTHOM Macchl. HoMUHanbHble
3HauyeHnA JaBNeHVA N KOHLEBaA Harpyska MOryT 6biTb Pa3/IMUHBIMU B 3aBUCUMOCTY OT MaTepunana Tpy6 1/uni TONLLMHbI CTEHOK. 3a NepeyHeM NPOTBOMNOXapPHOToO
060py0BaHNA 1 yTBEPXAEHHBIMI HOMUHANBbHBIMW 3HaUeHNAMM AaBneHna obpallaiitecs B Tyco BSP.

$: MaKcvManbHblii OTCTYN OT KOHLA TPY6bl NpefycMOTPEH ANA pa3pes3aHHbiX TPY6 CTaHAAPTHOW MacChl C Ma30BbIMU COEANHEHNAMN. 3HaYeHUA Ana Tpy6 C
xonopHoaepopMUPOBaHHBIMI Na3ami PaBHbI 1/2 3HaueHWI TPY6 C HapPe3HbIMU Na3amu.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde bagvurunuz karsiliginda veri dosyalarimizi size ulagtiririz. Istenen uygulama icin uygun iriinii se¢mek,
basing sinirlar ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukéarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin pargalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi iin uygulama tirlerine uygun 6nerilmis contalarin kullaniimasi
gerekmektedir.

1: Azami basing ve ug pargalarin Gstiindeki ytik standart agirlikli celik borusuna baglidir. Basing yiikseklikleri ve ug yiiklemeleri boru maddesine ve duvar kalinligina

gore degisebilir. Daha fazla ayrinti icin Tyco BSP ile irtibata geciniz. Yangin koruma ekipmanlarin onaylar ve basing sinirlari icin Tyco BSP ile irtibata gegin.

$: Azami kor tapa kesilerek elde edilen yive sahip standart aginlikli borular icindir. Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin deger-
lerinden %50 azdir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Couplings, Heavy Duty, Rigid

@ MydTbl, ANA TAKENOro pexnma, XKectkue
@ Kaplinler, Yuksek Basinca uygun, sabit

Tyco BSP Nominal Pipe Max.Wk Max. End Range of Pipe End Coupling Coupling Bolts Approx
Art. No. Size oD Pressuret Loadt Separationt Dimensions BonTb! My@THI Weight
HomuHanbHbii  BHelw. gnam. Makc. pa6. Makc. KoHLeBaa  [lnanasoH 3Hauennil pasaenenna Pazmepbl My¢Tbl Kaplin civatalar Mpun6nu3. Bec
Avamerp TPy6bI nasnexue T Harpyska Ha KOHLaX TPy6 Kaplin ebatlari Qnt Size .
Anma boyu Boru OD Azami gallima Azami ugyiikii  Azami ve asgari boru A B C Kon-80 Ivavetp Yaklasik agirk
basincr sonu araligi¥ Aded Boy
mm [“] mm bar [psi] kN mm mmmmmm mm mm kg
772ME0042* 32 [1.1/4] 42.4 51.7 [750] 722 0-1.5 70 111 46 2 M10x57 0.5
772ME0048* 40 [1.1/2] 48.3 51.7 [750] 9.46 0-2.0 76 17 46 2 M10x57 0.5
772ME0060* 50 [2] 60.3 51.7 [750] 14.78 0-3.3 87 130 48 2 M10x57 0.7
772ME0073* 65 [2.1/2] 73.0 51.7 [750] 21.66 0-3.3 99 143 48 2 M10x57 1.1
772MEO0076* 65 [2.1/2] 76.1 51.7 [750] 23.58 0-3.3 106 145 51 2 M10x57 1.2
772ME0089* 80 [3] 88.9 51.7 [750] 32.10 0-3.3 118 159 48 2 M10x57 1.2
772MEO0114* 100 [4] 114.3 51.7 [750] 53.06 0-4.8 148 191 50 2 M16x83 1.6
772ME0139* 125 [5] 139.7 51.7 [750] 79.26 0-4.8 178 247 52 2 M16x83 3.4
772MEO0141* 125 [5] 141.3 51.7 [750] 81.09 0-4.8 180 247 52 2 M16x83 34
772ME0165* 150 [6] 165.1 48.2 [700] 103.18 0-4.8 206 268 54 2 M16x83 3.4
772MEO0168* 150 [6] 168.3 48.2 [700] 107.34 0-4.8 206 268 54 2 M16x83 3.4
772ME0219* 200 [8] 219.1 41.4 [600] 155.44 0-4.8 268 344 67 2 M20x121 8.2
772ME0273* 250 [10] 273.0 34.5 [500] 201.87 0-3.3 326 417 67 2 M24x165 1.2
772ME0324* 300 [12] 323.9 27.6 [400] 22717 0-3.3 391 479 67 2 M24x165 19.1
* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenka c HaHeceHunem Kpacku RAL3000, 2 - otaenka B BuAe OLMHKOBKM NOTPyXXeHneM B pacrnnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama
Note: The Fig. 772 Heavy Duty Rigid Coupling does not provide compensation for pipe system expansion and/or contraction associated with

pipe system temperature changes.

Mpumeyanue:[lna nos. 772 YKectkas mydTa Ana TAKENOro pexxMma' He NprBeeHa KOMMNEHCaLUA ANA PaclUMPEHUs CUCTeMbl TPYGONPOBOAOB U/UK CKaTUA,
CBA3AHHOrO C U3MEHEHVAMM TeMnepaTypbl B CUcTemMe TPy6GONpoOBOAOB.

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

t: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe
materials and/or wall thickness. ContactTyco BSP for details. For fire protection equipment listing and approval pressure ratings contactTyco BSP.

#: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

O6wie 3ameyaHuna:lononHUTeNbHaA MHGOPMaLIMA BKIOYEHa B HaLLVW cneLmuurKaLny 1 NpefocTaBiAaeTca no 3anpocy. OTBeTCTBEHHOCTb 3a BbIGOP U3aenuii,
NPUrofHbIX ANA NPeAyCMOTPEHHO LIenk, N NPUHATVE MeP NO HefOMYLLEHWIO NPEBbILLEHNA HOMVHAMbHbBIX 3HaYeHUI AaBNeHUA 1
NpPOV3BOAUTENBHOCTYU HeceT MPoeKTUPOoBLYMK. OBA3aTENbHO NPOUTUTE MHCTPYKLMIO MO YCTaHOBKe 1 3KCnyaTauun. Hu B Koem cnydae He
BbIHMaliTe KOMMOHEHTbI TPYHONPOBO/a, @ Takxe He NcnpaBnAiiTe HapyleHnA B Tpy6oNpoBoAe NpeaBapuTeNbHO He MOHU3NB AaBlieHne B cucTeme
1 He C/IUB 13 Hee XNAKOCTb. Bbibrpaemble MaTepuabl U NPOKNaZK1 HYHO CBEPATb C NepeyHem PeKOMeH/yeMbiX 1l KOHKPETHOrO NpUMeHeHA
NPOKNaoK.

t: MakcrmanbHoe aaBneHve 1 KOHUEBas Harpyska npeacTaBnaioT Coboi Cymmy BCeX Harpy3oK C y4eTOM CTasibHOW TPy6bl CTaHAapTHOM Macchl. HoMUHanbHble
3HayeHnA JaBNeHVA N KOHLEeBaA Harpy3ka MOryT ObiTb Pa3/IMUHBIMU B 3aBUCUMOCTY OT MaTepuana Tpy6 /v TOMLLMHbI CTEHOK. 3a NepeyHeM NPOTVBOMNOXapHOro
060py0BaHNA 1 YTBEPMXAEHHBIMU HOMUHANBbHBIMU 3HaUeHNAMM AaBneHna obpallaiiteck B Tyco BSP.

$: MaKcvManbHblii OTCTYN OT KOHLA TPY6bl NpeycMOTPEH ANA pa3pe3aHHbiX TPY6 CTaHAAPTHOW MacChl C Ma30BbIMU COEANHEHNAMN. 3HaYeHUA Ana Tpy6 C
xonopHoaepopMUPOBaHHBIMY Nasamii paBHbI 1/2 3HaueHW TPY6 C HAPe3HbIMM Na3amu.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama icin uygun Griinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi igin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi

erekmektedir.

t: Azami basing ve%g parcalarin tstindeki ylk standart agirlikh gelik borusuna baghidir. Basing ytikseklikleri ve ug ytiklemeleri boru maddesine ve duvar kalinligina

gore degisebilir. Daha fazla ayrinti icin Tyco BSP ile irtibata geciniz. Yangin koruma ekipmanlarin onaylar ve basing sinirlart icin Tyco BSP ile irtibata gegin.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

$: Azami kor tapa kesilerek elde edilen yive sahip standart aginlikli borular icindir. Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin deger-
lerinden %50 azdir..

Tyco Building Services Products




Couplings, Reducing Coupling, Flexible

@@ Myodrbl, nepexogHan mydra, rubkas
@ Kaplinler, rediiksiyonlu kaplin, esnek

w
(@]

paa)
pEd
NES

FIG. 716

Tyco BSP  Nominal Pipe Max.Wk Max. End Range of Pipe End Deflection Coupling Cogylin'% Bolts Approx
Art. No. Size OD Pressuret Loadt Separationt Otknokenme Dimensions KapTiT,:"c,va?aTﬁ,', Weight
HomuHanbHbli BHeww. Makc. pa6+ Makc. Kouue;aaﬂ ﬂmanazgu 3HaveHuil, Kguuu Sehim Pa3mepbl My§TbI ;I;i(llllGnllnL BTck
VELSY nam. = H H {f H )
Aﬂma bo’))/u Bgru z Aza‘rln?gaqlgn}:a:bea - R;rapr)l’éfau - TPy - pasaeneue: Per 'gg%?;mg ?,)I)Ps? Kaplin ebatlan Ql_lt ﬂmsalmz:_p aklagik agirli
I e o e Azamive asgari boru sonu aralif Kaplin basina Boru A B Ad B
mm[“] mm bar [psi] kn mm 0 mm/mtrs mm mm kg
716AE2015*  50x40 [2x1.1/2]  60.3x48.3 34.5 [500] 6.31 0-3.3 1°53' 325 89 129 48 2 M10x57 0.9
716AE2520%  65x50 [2.1/2x2]  73.0x60.3 34.5 [500] 9.85 0-3.3 1°33' 26.7 102 140 48 2 M10x57 1.1
716ME2620*  65x50 [2.1/2x2]  76.1x60.3 34.5 [500] 9.85 0-3.3 1°34' 26.7 107 149 48 2 M12x76 14
716AE3020%  80x50 [3x2] 88.9x60.3 34.5 [500] 9.85 0-3.3 117' 225 119 165 48 2 M12x76 2.0
716AE3025%  80x65 [3x2.1/2]  88.9x73.0 34.5 [500] 14.44 0-3.3 1117 225 119 165 48 2 M12x76 2.1
716ME3026*  80x65 [3x2.1]  88.9x76.1 34.5 [500] 15.72 0-3.3 1117 225 119 165 48 2 M12x76 2.0
716AE4220%  100x50 [4x2] ~ 114.3x60.3 34.5 [500] 9.85 0-4.8 2°38' 458 152 207 51 2 M16x83 3.2
716AE4225%  100x65 [4x2.1/2] 114.3x73.0 34.5 [500] 14.44 0-4.8 2°38' 458 152 207 51 2 M16x83 2.8
716ME4226* 100x65 [4x2.1/2] 114.3x76.1 34.5 [500] 15.72 0-4.8 2°38' 458 152 207 51 2 M16x83 2.8
716AE4230%  100x80 [4x3]  114.3x88.9 34.5 [500] 21.40 0-4.8 2°38' 458 152 207 51 2 M16x83 2.8
716ME5242*  125x100 [5x4]  139.7x114.3 34.5 [500]  35.37 0-6.4 2°38' 458 179 241 52 2 M20x121 5.0
716AE5342%  125x100 [5x4] 141.3x114.3 34.5 [500]  35.37 0-6.4 2°05' 36.7 181 243 52 2 M20x121 4.6
716ME6242*  150x100 [6x4] 165.1x114.3 27.5 [400] 28.30 0-6.4 1°50' 317 208 275 52 2 M20x121 5.7
716AE6342*  150x100 [6x4] 168.3x114.3 27.5 [400] 28.30 0-6.4 1°44' 30.6 213 276 52 2 M20x121 5.7
716AE6553*  150x125 [6x5] 168.3x141.3 27.5 [400] 43.25 0-6.4 1°44' 30.5 213 276 52 2 M20x121 5.3
716AE8063*  200x150 [8x6] 219.1x168.3 27.5 [400] 61.33 0-6.4 1915’ 21.7 272 349 57 2 M22x165 10.7

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenKa c HaHeceHneM Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM MOrpyeHneM B pacrias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

t: Maximum pressure and end load are total from all loads based on standard weight steel pipe. Pressure ratings and end loads may differ on pipe
materials and/or wall thickness. ContactTyco BSP for details. For fire protection equipment listing and approval pressure ratings contact Tyco BSP.

$: Maximum end cap is for cut grooved standard weight pipe. Values for roll grooved will be 1/2 that of cut grooved.

O6we 3ameyaHunsa:lononHUTeNbHaa MHGOPMaLIMA BKIOUEHa B HalLM cneuuuKaLny 1 NpefocTaBAaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP n3aenuii,
NPUrofHbIX ANA NPeAyCMOTPEHHO LIenk, N NPUHATVE MeP NO HefJoNYLIEHWIO NPEBbILIEHNA HOMVHAMbHbBIX 3HaYeHUI AaBNeHUA 1
NpPOV3BOAUTENBHOCTYU HeceT MPoeKTUPOoBLMK. OBA3aTeNIbHO NPOUTUTE MHCTPYKLMIO MO YCTaHOBKe 1 3KCMyaTauun. Hu B Koem ciydae He
BbIHMMalITe KOMMOHEHTbI TPY60NPOBOAA, a TaKXKe He NCMpaBNATe HapyLIeHKA B Toy6onpoBoae NpeABapuTENbHO He MOHM3MB AaBNeHNe B cucTeme
1 He CNINB U3 Hee XNAKOCTb. Bbibnpaemble MaTepuranbl 1 NPOKNafKy HYKHO CBEPATb C NepeyHeM peKoMeH/yeMbIX [/1A KOHKPETHOTO NPUMeHeHNA
NPOKNazoK.

t: MakcrimanbHoe AaBneHve 1 KOHLeBas Harpyska npeacTaBnaioT Cobom Cymmy BCeX Harpy3oK € y4eToM CTasibHOW TPyGbl CTaHAAPTHOM Maccbl. HOMUHanbHble
3HayeHnA aBNeHNA N KOHLEBAA Harpy3ka MOryT GbiTb Pa3NIMYHBIMU B 3aBUCUMOCTY OT MaTepmrana Tpy6 n/vnu TONLLMHbI CTEHOK. 3a NepeyHeM NPOTUBOMNOXapPHOTO
060pYyA0BaHNA 1 YTBEPKAEHHBIMU HOMUHANbHBIMU 3HAaYEHNAMM faBneHua obpatlaintecs B Tyco BSP.

$: MaKcManbHblii OTCTYN OT KOHLA TPY6bl NpelycMOTPEH ANA pa3pes3aHHbiX TPY6 CTaHAAPTHOW MacChl C Ma3oBbIMU COEAVHEHNAMN. 3HaYeHUA Ana Tpy6 C
X0No0AHOAeGOPMMPOBAHHBIMY Ma3amu PaBHbl 1/2 3HauUeHUI TPY6 ¢ Hape3HbIMK Na3amu.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama icin uygun Griinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi icin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi
gerekmektedir.

t: Azami basing ve ug parcalarin tstiindeki yiik standart agirlikh gelik borusuna baglidir. Basing yiikseklikleri ve ug yiiklemeleri boru maddesine ve duvar kalinligina

gore degisebilir. Daha fazla ayrinti icin Tyco BSP ile irtibata geginiz. Yangin koruma ekipmanlarin onaylar ve basing sinirlari icin Tyco BSP ile irtibata gegin.

$: Azami kor tapa kesilerek elde edilen yive sahip standart agirilikl borular icindir. Ezme yontemi ile elde edilmis yivlerin degerleri kesilerek elde edilen yivlerin deger-
lerinden %50 azdr.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Couplings, Continuity Clip

@ Myodrb, cnnownoit 3axum
@ Kaplinler, toprak klipsi

p:

Detail A Detail A

Continuity Clip/CnnoLuHon 3axuMm/toprak klipsi
Description Approx

T Weight
Mpn6nu3. Bec
Yaklasik agirlik
kg
CLIP0103 33.7-88.9 [1-3.1/2] For flexible coupling /na ru6koi my¢tbi/Esnek kaplinler icin 0.005
CLIP0406 114.3-168.3 [4-6] For flexible coupling /0na ru6koi my¢tsi/Esnek kaplinler igin 0.005
CLIP0812 219.1-323.9 [8-12] For flexible coupling /na ru6koi my¢tbi/Esnek kaplinler igin 0.005

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice




G Onanyn
® Flanslar

ANSI Class 125/150 Flange Rigid Figure 71A
KecTkmin dnaHeu, nos. 71A, knacc ANSI 125/150
ANSI sinif 125/150 flans, sabit, Figure 71A

P. 8.012

DIN PN10/16 BS4504 Flange Rigid Figure 71D
Kectkmin dnaney 71D, DIN PN10/16 BS4504
DIN PN10/16 BS4504, flans, sabit, Figure 71D

P 8.013

Flange Adaptor Insert Figure 71 DIN/ANSI
KonbueBana BcTaBKka ans ¢pnaHua, nos. 71, DIN/ANSI
Flans contasi/ adaptérd, yaricap, Figure 71 DIN/ANSI

P 8.014

Flange Adaptor DIN PN10/16 BS 4504 Figure 343/344
OnaHueBbI NepexofHuK, No3. 343/344, DIN PN10/16 BS 4504
Flans adaptori DIN PN10/16 BS 4504 Figure 343/344

P. 8.015

Tyco Building Services Products 8.011

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Flanges, ANSI Class 125/150 Flange, Rigid

@@ Onanup, pnaney knacca no ANSI - 125/150, xxecTkuin

@ Flanslar, ANSI sinifi 125/150 flans, sabit

Nominal Pipe Max.Wk Max. End
Size Pressuret Loadt
HomuHanbHbii E Makc. pab. Makc. koHueBaa
AnameTtp z Anasr[emref A Harpyzxafwku
Anma boyu poyos zagg;lg‘ac:grma zami ug yuk
mm [“] mm bar [psi] kN
71AAE0060* 50 [2] 60.3 20.7 [300] 5.91
71AAE0073* 65 [2.1/2] 73.0 20.7 [300] 8.66
71AAE0089* 80 [3] 88.9 20.7 [300] 12.84
71AAE0114* 100 [4] 114.3 20.7 [300] 21.22
71AAE0141* 125 [5] 141.3 20.7 [300] 32.44
71AAE0168* 150 [6] 168.3 20.7 [300] 46.02
71AAE0219* 200 [8] 219.1 20.7 [300] 77.99
71AAE0273* 250 [10] 273.0 20.7 [300] 121.08
71AAE0324* 300 [12] 323.9 20.7 [300] 170.44

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish

**= Bolts are not supplied. Bolt lengths shown are standard; it is
the responsibility of the purchaser to verify correct lengths for
intended applications

* =1 -o0Thenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B BUAE OLMHKOBKM

norpy>KeHnem B pacnnas
** = bonTbl He NOCTaBNATCA NprBefjeHHanA ANHa 6ONTOB - CTaHAAPTHasA;

NOKynaTesib HeCeT OTBETCTBEHHOCTb 33 YTOUHEHE HEOGXOANMON ANMHbI ANs
npeaycMOTPeHHOW Lenu

* =1 boyall RAL3000 kaplamast icin, 2 sicak daldirmali galvanize kaplama igin
** = Civatalar verilmemektedir. Civata uzunluklari standarttir; uzunluklarin
uygunlugunu tespit etmekte n alici sorumludur.

Note: The effective sealing area of the mating flange must be
free from gouges, undulations or deformities of any type
to ensure proper sealing of the gasket. The Fig. 71 Flange
provides a rigid joint when used on standard grooved
pipe in accordance with Grinnell specifications, therefore,
no linear or angular movement at the joint is allowed.
Dimension D and E represent minimum and maximum
sealing area.

S deKTrBHaA 061acTb U30MALMMN KOHTPIAHLA He JOMKHA
MMeTb BbIEMKW, HEPOBHOCTU 1 HUKaK He AOMKHa bbiTb
nedopmrposaHa, 4Tobbl Gbina JOCTUTHYTa Heo6XoAVManA
repMeTVYHOCTb B MECTE YCTaHOBKM NPOoKNaaKkn. [ina nos. 71
'OnaHeL' NpUBEAEHO XeCTKoe CoeAMHEHME NPK NCMOJb30BaHNN
Ha CTaHAapTHOI Tpy6Ge C Nasom B COOTBETCTBUN CO
cneundmkauyuamm Grinnell, nosTomy npoaonbHble 1K yrnoebie
nepemelleHna He aonyckatotca. Pasmep D v E npeactasnatoT
CO6OI MHUMaNbHYO N MaKCUManbHyto 061acTb N30nALMN.

Not: Flanslarin birlestigi ve kaynastigi yerler delik, dalgalanma ve her
tlrlt sekil bozuklugundan arinmis olmasi gerekir ki contalar
sizintilari 6nlesin. Fig. 71 flangi standart yivli Grinnell tip borularla
kullanildiginda sabit bir conta sunulmaktadir. Bu ytizden ne diiz
ne de dirsekli baglantiya izin verilmektedir. D ve E boyutlari asgari
ve azami sizdirmazlik bolgesini teskil etmektedir.

Mpumeyanue:

Dimensions
Pasmepb!
Ebatlar

Approx
Weight

Mpun6nu3. Bec
Yaklasik agirhk

Mating Flange Bolts**
BonTbl KOHTpdRaHua**
Birlesen flanslar icin civatalar**

Qnt Size

Kon-so namer
F Aded A Boy -
mm mm kg

A B C D E
mm mm

162 121 19 61 87 184 4 5/8 x 3 1.4
178 140 22 73 99 200 4 5/8 x 3 2.3
191 152 24 89 115 251 4 5/8x 3 25
229 191 24 114 141 252 8 5/8 x 3 3.2
254 216 25 141 171 289 8 3/4x31/2 4.2
279 241 25 168 198 302 8 3/4 x31/2 4.5
343 299 29 219 253 365 8 3/4x31/2 75
406 362 30 273 313 429 12 7/8 x 4 9.9
483 432 32 324 364 508 12 7/8 x 4 11.0

General notes: Additional information is included in our data sheets and
is available upon request. It is the Designer’s responsibil-
ity to select products suitable for the intended service and
to ensure that pressure ratings and performance data is
not exceeded. Always read and understand the installa-
tion instructions. Never remove any piping components
nor correct or modify any piping deficiencies without first
depressurizing and draining the system. Material and
gasket selection should be verified with the gasket recom-
mendation listing for the specific application.

1: Maximum pressure and end load are total from all loads based on
standard weight steel pipe. Pressure ratings and end loads may
differ on pipe materials and/or wall thickness. ContactTyco BSP for
details. For fire protection equipment listing and approval pressure
ratings contactTyco BSP.

[ononHuTtenbHaa MHGopMaLMA BKOYEHa B HaLn
cneundrKaLMm 1 NpeAoCTaBNAETCA MO 3anpocy.
OTBETCTBEHHOCTb 3a BbIGOP U3AeNNiA, NPUrOAHbIX ANA
NpeAycMOTPEHHOW LieNu, U NPUHATUE Mep MO HeAoNyLEHIo
NpPeBbILIEHVA HOMUHANbHBIX 3HAYEHUI AABNEHUA 1
NpPoV3BOANTENBHOCTN HeceT MpoeKTUPOoBLUMK. O6A3aTeNnbHO
NpOoYTUTE MHCTPYKLIMIO MO YCTaHOBKE 1 SKCMyaTaLuu. Hu B koem
Cnyyae He BblHUMaliTe KOMMOHEHTbI TPY6ONPOBO/a, a Takxke He
ncnpasnainTe HapyLweHna B TPy60npoBoae npesBapuTenbHoO
He MOHU3MB [laBfieHVe B CUCTEME 1 He CIMB U3 Hee XWAKOCTb.
Bbi6rpaemble MaTepuasnbl U NPOKNaAKM HyXKHO CBEPATD C
nepeyHem pekoMeHAyeMbIX AN KOHKPETHOrO NPUMEHEHNA
NpPOKNajokK.

O6wwe
3amevaHus:

t: MakcumanbHoe fjaBneHne 1 KoHLeBas HarpysKka npeActaBnaoT cobomn cymmy
BCEX Harpy3oK C y4eTOM CTafbHOM TPYObl CTaHAAPTHOM Maccbl. HoMUHanbHble
3HaueHWs [aBNeHNA N KOHLEBas Harpyska MoryT GbiTb PasfMUHbIMMI B
3aBUCMMOCTY OT MaTepwana Tpy6 1/uawv TONWUHbI CTEHOK. 3a NepeyHem
NPOTUBOMNOXaPHOro 060PYAOBAHNA 1 YTBEPKAEHHBIMI HOMWUHABHBIM
3HaueHUAMN AaBieHns obpallanTtecs B Tyco BSP.

Genel notlar:  Daha detayli bilgiye ulasmak istediginizde bagvurunuz karsili-

ginda veri dosyalarimizi size ulastiniriz. istenen uygulama icin

uygun Uriini segmek, basing sinirlari ve performans verilerini
gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her
halukarda kurma talimatlarini okuyup onlari anladiginiza kanaat
getiriniz. Sistemin basincini almadan ve drenajini gerceklestir-
meden asla ne borularin parcalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz.

Madde ve conta segimi iin uygulama tiirlerine uygun énerilmis

contalarin kullanilmasi gerekmektedir.

t: Azami basing ve ug parcalarin Gstiindeki yiik standart agirlikh gelik borusuna
bagldir. Basing ytikseklikleri ve ug ytiklemeleri boru maddesine ve duvar
kalinhgina gore degisebilir. Daha fazla ayrinti icin Tyco BSP ile irtibata geginiz.
Yangin koruma ekipmanlarin onaylar ve basing sinirlari icin Tyco BSP ile
irtibata gegin.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice




Flanges, DIN PN10/16 BS4504 Flange, Rigid

@ Onanup, pnaney DIN PN10/16 BS4504, xecTKuit
@ Flanslar, DIN PN10/16 BS4504 flans, sabit

Nominal Max.Wk Max. End
Size Pressuret Loadt
HomuHanbHbli E Makc. pab. Makc. koHLeBas
AvameTtp pasnexHve t Harpy3ka T
Anma boyu Azami galisma Azami ug yuki
basincit
mm [“] bar [psi] kN
71DAE0060* 50 [2] 60.3 20.7 [300] 5.91
71DAE0076* 65 [2.1/2] 76.1 20.7 [300] 9.43
71DAE0089* 80 [3] 88.9 20.7 [300] 12.84
71DAE0114* 100 [4] 114.3 20.7 [300] 21.22
71DME0139* 125 [5] 139.7 20.7 [300] 31.71
71DAE0165* 150 [6] 165.1 20.7 [300] 44.28
71DAE0168* 150 [6] 168.3 20.7 [300] 46.00
71DME8219*  200/PN10 [8]  219.1 20.7 [300] 77.97
71DME0219* 200/PN16 [8] 219.1 20.7 [300] 77.97
71DAE0273*  250/PN16 [10] 273.0 20.7 [300] 121.12
71DME0324*  300/PN16 [12] 323.9 20.7 [300] 170.39

* 1 for painted RAL3000 finish, 2 for hot dipped galvanized finish

** = Bolts are not supplied. Bolt lengths shown are standard; it is
the responsibility of the purchaser to verify correct lengths for
intended applications

* = 1-oTAenka c HaHeceHnem Kpacku RAL3000, 2 - otaenka B BuAe OLMHKOBKMN
rorpy»eHviem B pacnnas

** = bonTbl He NnocTasnAoTcA [NpnBeaeHHas AnvHa GONTOB - CTaHAAPTHas;
noKynaTesib HeceT OTBETCTBEHHOCTb 3a YTOUHEHVe HeOGXOFlVIMOVI ANNHbI
[ANA NpeAyCMOTPEHHO Lienn

* = 1 boyal RAL3000 kaplamasi igin, 2 sicak daldirmali galvanize kaplama igin

** = Civatalar verilmemektedir. Civata uzunluklari standarttir; uzunluklarin
uygunlugunu tespit etmekte n alici sorumludur.

Note: The effective sealing area of the mating flange must be
free from gouges, undulations or deformities of any type to
ensure proper sealing of the gasket. The Fig. 71 Flange pro-
vides a rigid joint when used on standard grooved pipe in
accordance with Grinnell specifications, therefore, no linear
or angular movement at the joint is allowed. Dimension D
and E represent minimum and maximum sealing area.
MpumeyaHve: DddekTBHAA 06NacTb N30AALMN KOHTPGNaHLA He JOMKHa
MMeTb BbleMKW, HEPOBHOCTU 1 HUKaK He A0MKHa 6biTb
nedpopmMrpoBaHa, uTobbl 6bina JOCTUrHYTa HeobxoguMmas
repMEeTUYHOCTb B MECTE YCTaHOBKM NpoKnaakn. [ina nos. 71
'OnaHel' NprBEAEHO KeCTKoe COeNHEHME NPU NCMOTb30BaHNMN
Ha CTaHAapTHOW Tpy6e C Na3oM B COOTBETCTBUM CO
cneundmkauyuamm Grinnell, nosTomy npoaonbHble 1K yraoBbie
nepemelleHna He aonyckatotca. Pasmep D v E npeactasnatoT
COBOI MHUMaNbHYI N MaKCUManbHyto 06nacTb N3onALun.

Flanslarin birlestigi ve kaynastigi yerler delik, dalgalanma ve her
turld sekil bozuklugundan arinmis olmasi gerekir ki contalar
sizintilari 6nlesin. Fig. 71 flangi standart yivli Grinnell tip borularla
kullanildiginda sabit bir conta sunulmaktadir. Bu ylizden ne

diiz ne de dirsekli baglantiya izin verilmektedir. D ve E boyutlan
asgari ve azami sizdirmazlik bolgesini teskil etmektedir.

Not:

Dimensions Mating Flange Bolts** Approx

fcisy Birleyon Rangiar o ewatalars  Wveight

3 ElErTd Mpn6nu3. Bec

Qnt Size Yaklasik agirhk

A B C D E F Ky AT

mm mm mm mm mm mm kg
162 125 19 61 87 184 4 M16 x 76 1.4
185 145 22 72 102 205 4 M16 x 76 2.5
200 160 24 89 115 222 8 M16 x 76 3.0
229 180 24 114 141 252 8 M16 x 76 3.2
250 210 25 140 166 272 8 M16 x 76 4.2
286 240 25 165 191 308 8 M20 x 89 4.5
279 241 25 168 198 302 8 M20 x 89 4.5
340 245 29 219 252 365 8 M20 x 80 75
340 295 29 219 253 364 12 M20 x 89 75
406 355 30 273 313 429 12 M22 x 102 9.9
460 410 32 324 364 487 12 M24 x 90 12.7

Additional information is included in our data sheets and
is available upon request. It is the Designer’s responsibil-
ity to select products suitable for the intended service and
to ensure that pressure ratings and performance data is
not exceeded. Always read and understand the installa-
tion instructions. Never remove any piping components
nor correct or modify any piping deficiencies without first
depressurizing and draining the system. Material and
gasket selection should be verified with the gasket recom-
mendation listing for the specific application.

1: Maximum pressure and end load are total from all loads based on
standard weight steel pipe. Pressure ratings and end loads may
differ on pipe materials and/or wall thickness. ContactTyco BSP for
details. For fire protection equipment listing and approval pressure
ratings contactTyco BSP.

General notes:

Obwme
3amevaHuAa:

[lononHutenbHas nHGOpPMaLMA BKIOUeHa B HalIn
cneyundrKaLum 1 NpefoCcTaBAAETCA MO 3anpocy.
OTBETCTBEHHOCTb 3a BbIGOP M3AENUN, NPUFOAHBIX ANA
npeaycMOTPEHHON Lenw, U NPUHATUE Mep NO HefoMNYyLEHNIO
npeBbliLeHNA HOMVUHaNbHBIX 3HAYEHUI ABNEHUA 1
npou3BoauTenbHOCTM HeceT NpoekTrpoBLmK. Oba3aTtenbHO
NPOYTUTE MHCTPYKLMIO MO YCTaHOBKe 1 3KcryaTaumun. Hn B koem
cny4yae He BbIHUMAINTE KOMMOHEHTbI prﬁonposop,a, a TaKxe He
ncnpasnaiiTe HapylweHus B Tpybonposoge npeasapuTesibHO
He MOHW3MB AaBIeHNe B CUCTEME U He CIINB U3 Hee XWAKOCTb.
Bbibrpaemble MaTepuanbl U MPOKMAAKN HYXXHO CBEPATL C
nepeyHem pekomeHayemblX 451 KOHKPETHOro npumeHeHna
NPOKNaaokK.

t: MakcumanbHoe faBneHne 1 KOHLeBas HarpysKka npeacTaBaaoT cobomn cymmy
BCEX Harpy3oK C y4eToMm CTanbHOM TPyObl CTaHAAPTHO Maccbl. HOMUHanbHble
3HaYeHUA AaBNEHVA 1 KOHLEBasA Harpyska MOryT ObiTb PasfinyHbIMK B
3aBUCMMOCTY OT MaTepwvana Tpy6 1/unw TONLWUHbI CTEHOK. 3a NnepeyHem
NPOTUBOMNOXaPHOro 060PYAOBAHNA 1 YTBEPKAEHHBIMA HOMWUHANBbHBIMU
3HauYeHMAMM aBneHna obpatyaintecs B Tyco BSP.

Daha detayli bilgiye ulasmak istediginizde basvurunuz karsili-

ginda veri dosyalarimizi size ulastiniriz. istenen uygulama icin

uygun Urtint segmek, basing sinirlari ve performans verilerini
gegcmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her
halukarda kurma talimatlarini okuyup onlari anladiginiza kanaat
getiriniz. Sistemin basincini almadan ve drenajini gergeklestir-
meden asla ne borularin pargalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz.

Madde ve conta secimi icin uygulama tlrlerine uygun nerilmis

contalarin kullanilmasi gerekmektedir.

t: Azami basing ve ug pargalarin Usttindeki yiik standart agirlikli celik borusuna
baghdir. Basing ytikseklikleri ve ug ytiklemeleri boru maddesine ve duvar
kalinligina gore degisebilir. Daha fazla ayrinti igin Tyco BSP ile irtibata geginiz.
Yangin koruma ekipmanlarin onaylar ve basing sinirlari igin Tyco BSP ile irtibata
gegin.

Genel notlar:

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Flanges, Flange Adaptor Insert, DIN/ANSI

@ ®naHupl, KonbueBas BcTaBKa anAa ¢pnaHua, DIN/ANSI
@ Flanslar, flans adaptorii, yaricap, DIN/ANSI

<> @@ A 2

Mating Flange Nominal i Dimensions
'E?Hggg‘nﬁggg HommnaniI: ile Avametp BHeLw. gnam. Pgégtelgrl
Anma boyu Boru OD
B
mm [“]

INS060M ANSI 150LB 50 [2] 60.3 100 57 3.3
INS073M ANSI 150LB 65 [2.1/2] 73.0 19 70 33
INS089M ANSI 150LB 80 [3] 88.9 132 86 3.3
INS114M ANSI 150LB 100 [4] 114.3 170 111 3.3
INS141M ANSI 150LB 125 [5] 141.3 192 137 3.3
INS168M ANSI 150LB 150 [6] 168.3 217 164 3.3
INS219M ANSI 150LB 200 [8] 219.1 275 214 3.3
INS273M ANSI 150LB 250 [10] 273.0 335 267 3.3
INS324M ANSI 150LB 300 [12] 323.9 405 318 3.3
INSDINO60M DIN PN16 50 [2] 60.3 100 57 3.3
INSDINO76M DIN PN16 65 [2.1/2] 76.1 124 73 3.3
INSDINO89M DIN PN16 80 [3] 88.9 139 86 3.3
INSDIN114M DIN PN16 100 [4] 114.3 159 111 3.3
INSDIN139M DIN PN16 125 [5] 139.7 189 1356 3.3
INSDIN165M DIN PN16 150 [6] 165.1 215 161 3.3
INSDIN168M DIN PN16 150 [6] 168.3 217 164 3.3
INSDIN219M DIN PN16 200 [8] 219.1 270 214 3.3
INSDIN273M DIN PN16 250 [10] 273.0 326 267 3.3
INSDIN324M DIN PN16 300 [12] 323.9 381 318 3.3

Plate material: stainless steel ASTM A666 Type 304-2B
Mnaknposka: Hep>kaBatowas ctanb ASTM A666, Tvin 304-2B
Zemin maddesi: paslanmaz gelik ASTM A666, tip 304-2B

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Flanges, Flange Adaptor, DIN PN10/16 BS 4504

@@ Onanup, pnanuessbii nepexognuk, DIN PN10/16 BS 4504
@ Flanslar, Yivli Flans adaptérii, DIN PN10/16 BS 4504

FIG. 343 & 344

Nominal
Size
HomuHanbHbI guametp
Anma boyu

Bolt Size

BHelw. anam. Tpy6bl
Boru OD

mm [“] mm [“]
343F00060* 50 [2] 60.3 95.0 M16 x 65
343F00076* 65 [2.1/2] 76.1 95.0 M16 x 65
343F00089* 80 [3] 88.9 100.0 M16 x 70
343F00108* 100 [4] 108.0 102.0 M16 x 70
343F00114* 100 [4] 114.3 102.0 M16 x 70
343F00133* 125 [5] 133.0 105.0 M16 x 75
343F00139* 125 [5] 139.7 105.0 M16 x 75
343F00159* 125 [5] 159.0 105.0 M16 x 75
343F00165* 150 [6] 165.1 105.0 M20 x 80
343F00168* 150 [6] 168.3 105.0 M20 x 80
343F00219* 200 PN16 [8] 219.1 112.0 M20 x 90
343F00273* 250 PN16 [10] 273.0 138.0 M24 x 100
343F00324* 300 PN16 [12] 323.9 138.0 M24 x 100

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1- oTAenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyeHnemM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

Flange Adaptor, DIN PN10 BS 4504

Nominal
Size

HomuHanbHbI grametp

Pipe
Bolt Size

BHeww. avam. Tpy6bi

Anma boyu Boru OD Birlesen flanslar icin civatalarin boyu

mm [“] mm [“]
344F00219* 200 PN10 [8] 219.1 112.0 M20 x 80
344F00273* 250 PN10 [10] 273.0 138.0 M20 x 90
344F00324* 300 PN10 [12] 323.9 138.0 M20 x 90

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oThenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyxeHnemM B pacnnas
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

Tyco Building Services Products

Mating Flange

Pasmep 6onTa KOHTpdNaHUa
Birlesen flanslar icin civatalarin boyu

Mating Flange

Pa3mep 6onTa KOHTPdNaHLa

Approx
Weight

Mpn6nu3. Bec
Yaklasik agirlik

kg
2.3
3.8
4.0
45
4.6
5.9
6.0
7.1
7.2
7.2
10.2
18.0
22.4

Approx
Weight

Mpn6nK3. BeC
Yaklasik agirlik

kg
10.2
18.0
22.4

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Q@ outunrn
® Fitingler

Elbow 90° Figure 210
KoneHo 90°, no3.210
Dirsek 90° Figure 210

P. 8.018

Elbow 45° Figure 201
KoneHo 45°, nos. 201
Dirsek 45° Figure 201

P. 8.019

Equal Tee Figure 219
TponHWK ana Tpy6 ofHoro ceyeHns, nos. 219
Esit T eki, Figure 219

P. 8.020

End Cap Figure 260
KoHueBas 3arnyLika, nos. 260
Kor tapa, Figure 260

P. 8.021

Short Radius 90° Elbow Figure 510S
KoneHo 90°, no3. 510S, ¢ pagnycom BNMCaHHOTO Kpyra
Kisa yaricap 90°, dirsek, Figure 510S

P. 8.022

Short Radius Equal Tee Figure 519S
TpoiiHWK AnA TPy6 0ZAHOTO CeYeHUA C pajMycoM BMUCAHHOTO Kpyra, M03. 5195
Kisa yaricap esit T eki, Figure 519S

P. 8.023

Reducing Tee Figure 221
MNepexopgHoON TPOMHMK , N03. 221
Reduksiyonlu T eki, Figure 221

P. 8.024

Reducing Tee Figure 321
MNepexogHon TPOMHMK, N03. 321
Reddksiyonlu T eki, Figure 321

P. 8.025

Elbow 22.1/2° Figure 312
KoneHo 22,1/2°, no3. 312
Dirsek 22.1/2° Figure 312

P. 8.026

Elbow 11.1/4° Figure 313
KoneHo 11.1/4°, nos. 313
Dirsek 11.1/4°, Figure 313

P. 8.027

End Cap with Threaded Outlet Figure 361/362

KoHueBas 3arnyLika ¢ pe3bboBbiM OTBEPCTUEM, M03. 361/362

Yivli cikish kor tapa, Figure 361/362

P. 8.028

Tyco Building Services Products 8.016

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice




Q@ outuurn
@ Fitingler

Hydrant Tee Figure 222
[napaHTHbIN TPOWMHWK, NO3. 222
Hidrant T eki, Figure 222

P. 8.029

Concentric Reducer Figure 250
KoHueHTpuryecknin nepexogHuk, nos. 250
Konsantrik rediksiyonlar, Figure 250

P. 8.030

Concentric Reducer Figure 350
BHeLeHTpoOBbIN NepexodHuK, no3. 350
Konsantrik rediiksiyon, Figur 350

P. 8.031

Eccentric Reducer Figure 351
BHeLleHTpOBbBIN NepexoAHuK, no3. 351
Eksantrik rediiksiyon, Figur 351

P. 8.032

Tyco Building Services Products 8.017

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Elbow 90°

@@ Outnnry, koneHo 90°
@ Fitingler, Dirsek 90°

C-E

Cast Fitting/
Jntoir putnHr/
Dokiim fitingler

Nominal Pipe Approx
Size (0))) Weight
HomuHanbHbiii guametp BHelw. anam. Tpy6bl Mpn6nus. Bec

Anma boyu Boru OD Yaklasik agirlik

mm[”] mm kg
210M00034* 25 [1] 33.7 57 0.4
210M00042* 32 [1.1/4] 42.4 70 0.5
210M00048* 40 [1.1/2] 48.3 70 0.6
210M00060* 50 [2] 60.3 83 0.9
210M00073* 65 [2.1/2] 73.0 95 1.4
210M00076* 65 [2.1/2] 76.1 95 1.4
210M00089* 80 [3] 88.9 108 2.0
210M00108* 100 [4] 108.0 121 3.9
210M00114* 100 [4] 114.3 127 3.9
210M00133* 125 [5] 133.0 133 5.1
210M00139* 125 [5] 139.7 140 5.1
210M00141* 125 [5] 141.3 140 6.1
210M00159* 150 [6] 159.0 152 6.6
210M00165* 150 [6] 165.1 165 8.4
210M00168* 150 [6] 168.3 165 8.4
210M00219* 200 [8] 219.1 197 16.6
210M00273* 250 [10] 273.0 229 272
210M00324* 300 [12] 323.0 254 30.4

* = 1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenka c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B BUe OLMHKOBKM NOrpyeHneM B pacnnas
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obwwe [ononHuTtenbHas MHGopMaLvA BKIOYEHa B HalM crielrduKaLmm n NpeaocTaBaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbiGOp U3fenuii,

3amevaHuA: NPVroAHBIX ANA NPEAYCMOTPEHHO LIENW, U MPUHATHE Mep NO HeAOMYLLEHUIO NPEBbILLEHUA HOMUHATIbHBIX 3HAYEHWIA AABNEHUA U
NpoV3BOANTENbHOCTN HeceT MPoeKTUPOoBLLMK. O6A3aTeNbHO NPOYUTHTE UHCTPYKLIMIO NO YCTaHOBKeE 1 3KCnyaTaumn. Hy B Koem ciyyae He
BbIHMMaiiTe KOMMOHEHTbI TPY6ONPOBO/a, a TakXe He 1CNpaBnAiTe HapyleHUs B TPy6onpoBoae NpeaBapuTeNibHO He NOHW3MB AaBneHKe B cucTeme
1 He CIUB U3 Hee XNAKOCTb. Bbibrpaemble maTepuabl 1 NPOKNafKN HYKHO CBEPATb C NepeyHeM PeKOMEeHyeMbIX ANA KOHKPETHOrO NpUMeHeHNA
NpPOKnajokK.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiniriz. istenen uygulama igin uygun iiriini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi icin uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, Elbow 45°

@@ Outunry, koneHo 45°
@ Fitingleri, Dirsek 45°

Cast Fitting/
Nuton dutnHr/
Dokum fitingler

Nominal Pipe Approx
Size (0))) Weight
HomuHanbHbiii guametp BHelw. anam. Tpy6bl Mpn6nus. Bec

Anma boyu Boru OD Yaklasik agirlik

mm[“] mm kg
201M00034* 25 [1] 33.7 45 0.3
201M00042* 32 [1.1/4] 42.4 45 0.4
201M00048* 40 [1.1/2] 48.3 45 0.5
201M00060* 50 [2] 60.3 51 0.8
201M00073* 65 [2.1/2] 73.0 57 1.0
201M00076* 65 [2.1/2] 76.1 57 1.0
201M00089* 80 [3] 88.9 64 1.6
201M00108* 100 [3] 108.0 73 2.5
201M00114* 100 [3] 114.3 76 24
201M00133* 125 [5] 133.0 83 3.5
201M00139* 125 [5] 139.7 83 3.5
201M00141* 125 [5] 141.3 83 3.9
201M00159* 150 [6] 159.0 89 5.4
201M00165* 150 [6] 165.1 89 5.4
201M00168* 150 [6] 168.3 89 5.4
201M00219* 200 [8] 219.1 108 10.4
201M00273* 250 [10] 273.0 121 14.1
201M00324* 300 [12] 323.9 133 18.1

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - o1enka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLVHKOBKM NOrpyXeHnemM B pacnnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obuwwe [ononHuTtenbHaa MHGopMaLVA BKIOYEHa B Haly cneludrKaLmm 1 npeaocTaBnaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbiGOp U3aenuii,

3amevaHuA: NPUrofiHbIX ANA NPeAYCMOTPEHHON LIeN, Y MPUHATYE Mep MO HeJOMYLLEHMIO NPEBbILLEHUA HOMUHAMbHbIX 3HaYEHWI AaBNeHUA 1
NpPOV3BOANTENbHOCTN HeceT MPoeKTUPOBLLUMK. O6A3aTENbHO NPOYUTHTE UHCTPYKLIMIO MO YCTaHOBKE 1 SKCMlyaTaumn. Hy B Koem ciyyae He
BbIH/IMaliTe KOMMOHEHTbI TPYOONPOBOAE, a Takxe He UCNPaBAANTe HapylleHVA B TPy6ONpoBoae NpefiBapnTeNbHO He MOHU3MB aBNeHne B cucTeme
1 He C/IB U3 Hee XWAKOCTb. BbibrpaemMble MaTepuarbl v MPOKNaAKK HY»KHO CBEPATD C NepeyHeM PeKOMEHYeMbIX ANA KOHKPETHOTO NPUMeHeHNs
NpPOKNajiokK.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. istenen uygulama igin uygun iiriinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi icin uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Equal Tee

@ @UTUHIN, TPONHUK ANA TPY6 ofHOrO ceyeHns
@ Fitingler, esit T eki

Cast Fitting/
Nuton dutnHr/
Dokum fitingler

Nominal Pipe Approx
Size (0))) Weight
HomuHanbHbiii guametp BHelw. anam. Tpy6bl Mpn6nus. Bec
Anma boyu Boru OD Yaklasik agirlik
| kg
219M00034* 25 [1] 33.7 57 0.5
219M00042* 32 [1.1/4] 42.4 70 0.6
219M00048* 40 [1.1/2] 48.3 70 0.8
219M00060* 50 [2] 60.3 83 1.2
219M00073* 65 [2.1/2] 73.0 95 2.6
219M00076* 65 [2.1/2] 76.1 95 2.6
219M00089* 80 [3] 88.9 108 3.2
219M00108* 100 [4] 108.0 121 5.2
219M00114* 100 [4] 114.3 127 5.4
219M00133* 125 [5] 133.0 133 4.8
219MO00139* 125 [5] 139.7 140 6.9
219M00141* 125 [5] 141.3 140 77
219MO00159* 150 [6] 159.0 152 6.3
219M00165* 150 [6] 165.1 165 11.8
219M00168* 150 [6] 168.3 165 11.8
219M00219* 200 [8] 219.1 197 20.4
219M00273* 250 [10] 273.0 229 32.7
219M00324* 300 [12] 323.9 254 42.0

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1- oThenka c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyeHnemM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obwwe [lononHuTtenbHas MHopMaLWa BKIOYEHa B HalW crieyrduKaLmm n npeaocTaBnaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP U3Aenuii,

3amevaHua: NPUrOAHBIX ANA NMPEAYCMOTPEHHO LIeNW, U MPUHATHAE Mep NO HEAOMYLLEHUIO NPEBbILLEHUA HOMUHAJIbHBIX 3HAUEHWI AaBAEHUA 1
NPOV3BOANTENBHOCTN HeceT MPoeKTUPOBLUMK. O6A3aTENbHO NPOYTHTE UHCTPYKLMIO MO YCTaHOBKE 1 3KCnyaTaumn. Hy B koem cinyJae He
BbIHMMalITe KOMMOHEHTbI TPY6ONPOBOAA, a TaKXKe He NCNPaBNANTe HapylLeHUs B Tpy6onpoBoae NpeaBapuTeNibHO He MOHN3MB AaBNeHIe B cucteme
W He CQIB N3 Hee XNAKOCTb. Bb|6v|paeMb|e MaTepuanbl U NPOKNaAKN HyXKHO CBEPATb C NepeyHemM peKoMeHAyeMbIX AN1A KOHKPETHOro NnpnMmeHeHna
NPOKNaAokK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. istenen uygulama icin uygun riinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz. Madde ve conta segimi i¢in uygulama tirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, End Cap

Q@ Outunry, sarnywka
@ Fitingler, kor tapa

Nominal Pipe Approx
Size oD Weight
HomuHanbHbiii guametp BHelw. anam. Tpy6bl Mpn6nus. Bec
Anma boyu Boru OD Yaklasik agirlik
mm[“] kg

260M00034* 25 [1] 33.7 22 0.1

260M00042* 32 [1.1/4] 42.4 22 0.2
260M00048* 40 [1.1/2] 48.3 22 0.3
260M00060* 50 [2] 60.3 22 0.4
260M00073* 65 [2.1/2] 73.0 22 0.4
260M00076* 65 [2.1/2] 76.1 24 0.5
260M00089* 80 [3] 88.9 22 0.5
260M00114* 100 [4] 114.3 25 1.2

260M00139* 125 [5] 139.7 23 2.1

260M00141* 125 [5] 141.3 25 2.3
260M00165* 150 [6] 165.1 25 3.4
260M00168* 150 [6] 168.3 25 3.4
260M00219* 200 [8] 219.1 30 5.8
260M00273* 250 [10] 273.0 32 9.1

260M00324* 300 [12] 323.9 32 16.3

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenKa c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM MOrpyXeHnemM B pacrias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies ~
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obuwwe [ononHuTtenbHaa MHGopMaLVA BKIOYEHa B Haliy cneLudrKaLmm 1 npeaocTaBnaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbiGOp U3aenuii,

3amevaHua: NPUrofHbIX ANA NPeAYCMOTPEHHON LIeN, Y MPUHATYE Mep NO HeOMYLLEHMIO NPEBbILLEHUA HOMUHAMbHbIX 3HaYEHWI AaBNeHUA 1
NpPOV3BOANTENBHOCTN HeceT MPoeKTUPOBLLMK. O6A3aTENbHO NPOYUTHTE UHCTPYKLIMIO NO YCTaHOBKE 1 SKCMyaTaumn. Hy B Koem cnyyae He
BbIHMMaIiTe KOMMOHEHTbI TPY6ONPOBOAA, a TakXKe He CNPaBNATe HapylleHUs B TPy6onpoBoae NpeaBapuTeNibHO He NMOHW3MB AaBNEHNe B CUCTeME
1 He C/IB U3 Hee XNAKOCTb. Bbibrpaemble MaTepuaribl v NPOKAAAKMN HYXHO CBEPATb C NepeyHeM PeKOMEHAYEMbIX ANA KOHKPETHOTO MPUMEHEHNA
NpPOKNajokK.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiniriz. stenen uygulama igin uygun iiriini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi icin uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Short Radius 90° Elbow

@ ®uTrHIrK, KoneHo 90° c paaNycomM BNUCAHHOrO Kpyra
@ Fitingler, kisa yaricap 90° dirsek

[ves] &> @ @D

C-E

C-E

Cast Fitting/
Jntoir putnHr/
Dokiim fitingler

Pipe Approx Friction Resistance**
Weight ConpoTuBneHIe TpeHNIo**
HomuHanbHbIn grametp BHeww. anam. Tpy6bl Mpn6nv3. Bec Surtinme dayaniklihgr
Anma boyu Boru OD Yaklasik agirhk
mm[“] mm kg Mtrs.
510M00060* 50 [2] 60.3 70 0.7 1.0
510M00073* 65 [2.1/2] 73.0 76 1.0 1.2
510M00076* 65 [2.1/2] 76.1 76 1.0 1.2
510M00089* 80 [3] 88.9 86 1.3 1.5
510M00114* 100 [4] 114.3 102 2.6 2.0
510M00139* 125 [5] 139.7 124 810 24
510M00141* 125 [5] 141.3 124 3.9 25
510M00165* 150 [6] 165.1 140 5.0 2.9
510M00168* 150 [6] 168.3 140 5.1 3.0
510M00219* 200 [8] 219.1 175 10.6 4.0

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenKa c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM MOrpyeHneM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

** = Equivalent meter of straight pipe based upon pressure drop of schedule 40 pipe.
** = 5KBMBAJIEHTHbIN METP NPAMON TPY6GbI C yueToM nepenaaa AasneHna Tpy6bl 40-ro nnaHa.
** = Diiz borunun esdeger uzunlugu 40 nolu borunun basing duststine gore baglhdir.

Note: Figure 510 and 519 fittings are special short radius fittings with smaller centre to end dimensions than standard grooved fittings.
Depending on the size and coupling used, there may be interferences at the bolt pads which requires repositioning of the
coupling orientation. The use of flange adapters is not recommended with figures 510 and 519 fittings.

ContactTyco BSP for details.

Mpumeyanune: OUTUHMM Ha puc. 510 1 519 - 3To cnelnanbHble GUTUHMM Pajvyca BIMCAHHOIO Kpyra C yMeHbLUEHHbIMM pa3mMepamm OT LieHTpa K Kpalo Mo cpaBHeHUIo
CO CTaHAAPTHbIMY GUTUHIaMK C Na3amu. B 3aBMCMMOCTY OT pa3mepa 1 UCNonb3yemMoit MydTbl MOTYT CO3/1aBaTbCA NPENATCTBUA Ha NoaKnaakax 6onTos,
13-3a Yero notpebyeTca N3MeHeHne
opveHTaumy myTbl. icnonb3osaHue dnaHLEeBbIX NEPEXOAHNKOB He peKoMeHyeTca ANnAa GUTUHIOB B M03. 510 1 519.

Cnpasku npepocTasnset Tyco BSP.

Not: Figure 510 ve 519 fitingleri 6zel ve kisa yaricap fitingleridir. Merkez ug ebatlar, standart yivli fitinglerden daha kiigtktr. Kullanilan kaplinlerin tipi ve
buyiiklugtine bagh olarak kaplin civatalarin islemesi olumsuz etkilenebilir. Bu durum kaplinlerin yoniinti degistirmek gerektirebilir.
510 ve 519 fitingleri ile flang adaptorlerin kullanilmasi 6nerilmemektedir.

Daha fazla ayrinti icin Tyco BSP ile irtibata geginiz.

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

06u.|,|/|e ﬂOI'IOHHI/ITeﬂbHaFI I/IH¢OpMaL|I/IFI BKNKO4YeHa B Hawn CI'IEL[I/Iq)I/IKaLlI/II/I 1 NpefocTaBnfaeTca nNo 3anpocy. OTBETCTBEHHOCTb 33 Bbl60p I/ISFISJ'IVIVI,

3ameyaHuA: npurogHbix ona npenyCMOTpeHHoﬁ uenn, u npuHATNE Mep no HeJonyLweHuto NpeBbileHna HOMUHANbHbIX 3HayeHuin AaBlieHnA n
NPOV3BOANTENBLHOCTN HeceT MPOoeKTUPOBLLUMK. O6A3aTeNbHO NPOYTHTE UHCTPYKLIMIO MO YCTaHOBKE 1 3KCnyaTaumn. Hu B Koem ciyyae He
BbIHMMaliTe KOMMOHEHTbI TPYBONPOBOAA, a TaKXKe He NCNPaBnATe HapyLLeHUs B TPY6ONpPOBOAe NpeABapUTeNbHO He NMOHW3MB AaBNeHIe B cucTeme
1 He C/IB U3 Hee XNAKOCTb. Bbibrpaemble Matepuaribl v NPOKAAAKN HYKHO CBEPATb C NepeyHemM PeKOMEHAYEMbIX Al KOHKPETHOO NMPUMEHeHNs
MPOKNafoK.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiniriz. istenen uygulama igin uygun iiriinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi icin uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, Short Radius Equal Tee

@@ OuTtnHrn, TpoiiHMK AnA TPY6 OAHOTO CeueHNs C PaAMYCOM BRMCAHHOTO KPYra

@ Fitingler, kisa yaricap, esit uzunluklu T eki

Cast Fitting/
Nuton dutnHr/
Dokim fitingler

Pipe Approx Friction Resistance**

Weight ConpoTuBneHIe TpeHNIo**

HomuHanbHbIn grametp BHeww. avnam. Tpy6bl Mpn6nv3. BeC Surtinme dayaniklihgr

Anma boyu Boru OD Yaklasik agirhk Run

Hutka

Devir adedi
mm[“] mm kg Mtrs.

519M00060* 50 [2] 60.3 70 1.0 25 1.0
519M00073* 65 [2.1/2] 73.0 76 1.4 3.0 1.2
519M00076* 65 [2.1/2] 76.1 76 1.4 3.1 1.2
519M00089* 80 [3] 88.9 86 1.9 3.7 15
519M00114* 100 [4] 114.3 102 3.5 5.0 2.0
519M00139* 125 [5] 139.7 124 5.4 6.1 2.4
519M00141* 125 [5] 141.3 124 5.4 6.3 2.5
519M00165* 150 [6] 165.1 140 6.8 72 2.9
519M00168* 150 [6] 168.3 140 6.9 76 3.0
519M00219* 200 [8] 219.1 175 14.2 10.0 4.0

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenKa c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM MOrpyeHneM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

** = Equivalent meter of straight pipe based upon pressure drop of schedule 40 pipe.
** = 5KBMBAJIEHTHbI METP NPAMON TPY6GbI C yueToM nepenaaa AasneHna Tpy6bl 40-ro nnaHa.
** = Diiz borunun esdeger uzunlugu 40 nolu borunun basing dustistine gore bagldir.

Note: Figure 510S and 519S fittings are special short radius fittings with smaller centre to end dimensions than standard grooved fittings.
Depending on the size and coupling used, there may be interferences at the bolt pads which requires repositioning of the
coupling orientation.The use of flange adapters is not recommended with figures 510S and 519S fittings.
ContactTyco BSP for details.

Mpumeyanune: OUTHIM B N03. 510S 1 5195 - 3T0 CneLmanbHble GUTUHIY Paanyca BIMCAHHOTO Kpyra C yMeHbLUEHHbIMM pa3mMepamm OT LieHTpa K Kpato o CpaBHeHUIo
CO CTaHAAPTHLIMY GUTUHIaMK € Na3amu. B 3aBMCMMOCTY OT pa3mepa 1 UCNosb3yemoit MydTbl MOFYT CO3/1aBaTbCA NPENATCTBUA Ha NoaKnaakax 6onTos,
13-3a yero notpebyeTca N3MeHeHne
opueHTaumn MmyTbl. icnonb3osaHune dnaHLEBbIX NEPEXOAHINKOB He peKoMeHyeTcs ANA GUTUHIOB B No3. 5105 1 519S.

Cnpasku npegocTasnset Tyco BSP.

Not: Figure 510S ve 5195 fitingleri 6zel ve kisa yaricap fitingleridir. Merkez ug ebatlari, standart yivli fitinglerden daha kigtiktdr. Kullanilan kaplinlerin tipi ve
buyiklugiine bagh olarak kaplin civatalarin islemesi olumsuz etkilenebilir. Bu durum kaplinlerin yoniinti degistirmek gerektirebilir.
510S ve 5195 fitingleri ile flang adaptorlerin kullanilmasi 6nerilmemektedir.

Daha fazla ayrinti icin Tyco BSP ile irtibata geginiz.

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obuwue [lononHutenbHas nHGopMaLma BKIOYeHa B HalwuW crelunrKaLuy 1 NpefocTaBafeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP U3genui,

3amevaHuA: NPUrOAHBIX ANA NMPEAYCMOTPEHHO LIENW, U MPUHATHAE Mep NO HEAOMYLLEHUIO MPEBbILLEHUA HOMUHAJIbHBIX 3HAYEHWI AABNEHUA 1
NPOV3BOANTENLHOCTN HeceT MPOoeKTUPOBLUMK. O6A3aTeNbHO NPOYTHTE UHCTPYKLIMIO MO YCTaHOBKE 1 3KCnyaTaumn. Hu B Koem ciyyae He
BbIHMMaiiTe KOMMOHEHTbI TPYBONPOBOAA, a TaKXKe He NCNPaBNANTe HapyLLeHUs B TPY6ONpPoBoAe NpeABapuUTeNibHO He MOHW3MB AaBNeHe B cucteme
W HEe CJINB N3 Hee XNUAKOCTb. Bb|6|/|paeMb|e MaTepwuanbl U NPOKNaAKN HYXXHO CBEPATb C NepeyHeM pekoMeHAyeMblX A1 KOHKPETHOro npumeHeHna
NPOKNaAoK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. istenen uygulama icin uygun driini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz. Madde ve conta segimi i¢in uygulama tirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Reducing Tee

@@ Outnnrn, nepexogHoi TpoitHNK
@ Fitingler, Reduksiyon T eki

Cast Fitting/
Jntoir putuHr/
Dokum fitingler

Nominal Pipe Approx
H°”“”§ﬂ§.’?£’y‘ﬂ'a”“p B"e‘“é‘(‘,cr)“d’eoﬁ"yﬁ"' Q‘é‘l‘i%:?gi;;ni

mm[“] mm kg
221M02015* 22’2‘)52?’(1‘2 60.3x60.3x48.3 82.6 12
221M02520* ) ?/52’;625’1‘/520)(2 73.0x73.0x60.3 95.2 2.0
221M02620* ) ?/52Xx625)1(/520x ) 76.1x76.1x60.3 95.2 2.0
221M03010* 803"2("125 88.9x88.9x33.7 108.0 3.2
221M03020* 803")(83(1"250 88.9x88.9x60.3 108.0 25
221M03025* 2:;52"52 88.9x88.9x73.0 108.2 2.6
221M03026* 22;:2"52 88.9x88.9x76.1 108.2 2.6
221M04220% 100:)(12)?2"50 114.3x114.3x60.3 127.0 4.6
221M04225* 12::1201’;25 114.3x114.3x73.0 127.0 5.1
221M04226* 122:1201’;25 114.3x114.3x76.1 127.0 5.1
221M04230* 100:):2?;80 114.3x114.3x88.9 1270 5.2
221M06230* 1506")(1:)?;‘80 165.1x165.1x88.9 165.1 12.6
221M06242* 1502)1(‘:2:100 165.1x165.1x114.3 165.1 13.0
221M06320* 1506’;1:)?2’(50 168.3x168.3x60.3 165.1 12.0
221M06325* 12221201’25 168.3x168.3x73.0 165.1 12.0
221M06326* 1222:(201’525 168.3x168.3x76.1 165.1 12.0
221M06330* 1506")(1:)?3"80 168.3x168.3x88.9 165.1 12.0
221M06342* 15°212221°° 168.3x168.3x114.3 165.1 120

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1- oTAenka c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyeHnemM B pacnnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

O6wwe [lononHutenbHas nHGopMaLma BKIOYeHa B Halm cneludrKaLum 1 NpefocTaBafeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP U3genui,

3amMeyaHwusa: npurogHbix ana I'IpeAyCMOTpeHHOVI uenn, u npuHATNE Mep Nno HeJonyLweHuo NpeBbIleHna HOMUHaNbHbIX 3HauYeHun AaBlieHnA n
NPOU3BOANTENBHOCTU HeceT MPoeKTUPOBLUMK. O6A3aTeNbHO NPOYTUTE MHCTPYKLVIO MO YCTaHOBKE U 3KCnayaTaumn. Hu B Koem ciyyae He
BbIH/IMaliTe KOMMOHEHTbI TPYOONPOBOAR, @ TaKXKe HEe CNPaBNANTE HapyLLeHVA B TPy6ONpPOBOAe NpefBapuTeNbHO He NOHN3KB JaBNEHNE B CUCTEMe
1 He CJIB U3 Hee XWAKOCTb. Bbibripaemble MaTepuanbl v NPOKNAAKM HYXKHO CBEPATD C MepeyHeM PeKOMEHAYEMbIX ANA KOHKPETHOTO MPUMeHeHNA
NPOKNafoK.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. Istenen uygulama icin uygun iiriini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz. Madde ve conta segimi i¢in uygulama tirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, Reducing Tee

@@ Outnnrn, nepexogHoi TpoitHNK
@ Fitingler, Reduksiyon T eki

C-E

Fabricated Fitting [Segment Welded]/
Co6paHHblit GUTUHT [cBapHOIi cermeHT)/
Ozel islenmis fiting [kaynakli pargalar]/

Nominal Pipe Approx
H°M“”,§’r‘.‘§.'?i)€‘y‘ﬂ'a”“p B"e‘“é‘(‘,cr)“d’%&"yﬁ"' \Z‘é‘l‘”’fj?:f'gig;l.i

mm[“] mm kg
321F02010% 5°2XX5£("125 60.3x60.3x33.7 82.6 1.2
321F02615* ) 1/2)52’2‘615/’2‘1? . 76.1x76.1x48.3 95.2 1.9
321F03015* gggi?’ﬁg 88.9x88.9x48.3 108.0 2.4
321F05226* 125:;1;51’;25 139.7x139.7x76.1 139.7 6.6
321F05230* 1255")(1;5;‘80 139.7x139.7x88.9 139.7 7.3
321F05242* 125;1;)5(2100 139.7x139.7x114.3 139.7 8.1
321F06220* 1506X):65)?2)(50 165.1x166.1x60.3 166.1 12.0
321F06226* 12221201"?5 165.1x165.1x76.1 1665.1 12.1
321F06352* 150;122;125 168.3x168.3x139.7 1665.1 127
321F08042* 200:)2(2::100 219.1x219.1x114.3 196.8 227
321F08052* 200;:2:;1 % 219.1x219.1x139.7 196.8 18.6
321F08062* 200;)2;2:;1 50 219.1x219.1x165.1 196.8 24.5
321F08063 200;:‘;222150 219.1x219.1x168.3 196.8 245
321F01142* 25?3)2(?8:100 273.0x273.0x114.3 228.6 29.0
321F01152% 25‘1)3)2(?8:;25 273.0x273.0x139.7 228.6 29.6
321F01163* 25?3i?8:235° 273.0x273.0x168.3 228.6 24.9
321F01180* 25%)2(?8:200 273.0x273.0x219.1 228.6 29.3
321F01380* 30(1))2(1(1)2::00 323.9x323.9x219.1 254.0 414
321F01311% 30102")(31022("1%50 323.9x323.9x273.0 254.0 43.0

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oThenka c HaHeceHneMm Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyeHnemM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

O6wue [lononHutenbHaa nHPopmaLma BKIKOYEHA B HALLM cnieyndrKaLmm 1 NpefoCcTaBaAeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOp v3fenui,

3ameyaHuA: NpUroaHbIX AnAa npe,quMOTpeHHOVI uenn, u NpUHATUE Mep NO HeJOoNYyLEeHWIO NpeBblleHNA HOMVUHAalbHbIX 3HaueHun AaBlieHna n
Npou3BOANTENBHOCTU HeCeT I'IpoeKTmposu.le. Ob6s3aTensHO NPOYTUTE NHCTPYKLIMIO MO YCTaHOBKE 1 3KCryaTaynun. Hu B Koem cny4yae He
BblH/IMaiiTe KOMMOHEHTbI TPYOONPOBOAR, a Takke He UCNPaBNANTe HapylleHVA B TPy60NpoBoAe NpefiBapuTeNbHO He MOHN3MB JaBNeHne B cucTeme
1 He C/IB U3 Hee XWAKOCTb. Bbibrpaemble MaTepuanbl v NPOKNaAKK HYKHO CBEPATD C MepeyHem PeKOMEHAYEMbIX ANA KOHKPETHOTO MpUMeHeHNs
NPOKNagokK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. Istenen uygulama icin uygun driinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz. Madde ve conta segimi icin uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Elbow 22.1/2°

@@ Outnnry, koneHo 22,1/2°
@ Fitingler, dirsek 22.1/2°

Fabricated Fitting [Segment Welded]/
CobpaHHbIN GUTHHT [cBapHON cermeHT]/
Ozel islenmis fiting [kaynakli pargalar]/

Nominal Pipe Approx
Size oD Weight
HomuHanbHbIn anameTp BHeww. aviam. Tpy6bl Mpn6nu3. Bec
Anma boyu Boru OD Yaklasik agirlik
mm[“] kg
312F00042* 32 [1.1/4] 42.4 44.4 0.3
312F00048* 40 [1.1/2] 48.3 44.4 0.4
312F00060* 50 [2] 60.3 47.6 0.7
312F00073* 65 [2.1/2] 73.0 50.8 0.9
312F00076* 65 [2.1/2] 76.1 50.8 1.1
312F00089* 80 [3] 88.9 57.2 15
312F00114* 100 [4] 114.3 66.7 2.4
312F00139* 125 [5] 139.7 73.0 3.1
312F00141* 125 [5] 141.3 73.0 3.5
312F00165* 150 [6] 165.1 79.4 3.6
312F00168* 150 [6] 168.3 79.4 3.7
312F00219* 200 [8] 219.1 98.4 8.1
312F00273* 250 [10] 273.0 1.1 13.6
312F00324* 300 [12] 323.9 123.8 18.3

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1- oTgenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLHKOBKM MOrpyXeHnem B pacnnas
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

O6uwue [lononHnTtenbHas nHpopmaLua BKIKOYEHA B HALLM crieyndrKaLmm 1 NpefoCcTaBaaeTcs no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP n3[enui,

3amMeyaHuA: npurogHbix aona npe,quMOTpeHHOVI uenn, u npuHATNE Mep no HeJonyLweHuo NpeBbIleHnA HOMUHANbHbIX 3HaYeHun AaBneHnAa n
NPOV3BOANTENLHOCTN HeceT MPOoeKTUPOBLLUMK. O6A3aTENbHO NPOYUTHTE UHCTPYKLIMIO MO YCTaHOBKE 1 SKCMyaTaumn. Hi B Koem ciyyae He
BblH/IMaiiTe KOMMOHEHTbI TPYOONPOBOAR, @ TakKe He UCNPaBNANTe HapyLLeHVA B TPy6ONpPOBOAe NpefBapuTeNbHO He MOHN3KB aBNeHNe B cucTeMe
1 He C/IB U3 Hee XWAKOCTb. Bbibrpaemble MaTepuranbl v NPOKNAAKK HYXKHO CBEPATD C MepeyHeM PeKOMEHAYEMbIX ANA KOHKPETHOTO MPUMeHeHNA
NPOKNagokK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. Istenen uygulama icin uygun iiriini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi i¢in uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, Elbow 11.1/4°

@@ Outnnry, koneHo 11.1/4°
@ Fitingler, dirsek 11.1/4°

Fabricated Fitting [Segment Welded]/
CobpaHHbIN GUTHHT [cBapHOI cermeHT]/
Ozel islenmis fiting [kaynakli pargalar]/

Nominal Pipe Approx
Size (0))) Weight
HomuHanbHbIi grametp BHeww. anam. Tpy6bl Mpn6nK3. BeC
Anma boyu Boru OD Yaklasik agirlik
mm[“] mm kg
313F00042* 32 [1.1/4] 42.4 34.9 0.2
313F00048* 40 [1.1/2] 48.3 34.9 0.3
313F00060* 50 [2] 60.3 34.9 0.4
313F00073* 65 [2.1/2] 73.0 38.1 0.8
313F00076* 65 [2.1/2] 76.1 38.1 0.8
313F00089* 80 [3] 88.9 38.1 0.9
313F00114* 100 [4] 114.3 44.4 1.5
313F00139* 125 [5] 139.7 50.8 1.9
313F00141* 125 [5] 141.3 50.8 1.9
313F00165* 150 [6] 165.1 50.8 2.4
313F00168* 150 [6] 168.3 50.8 3.0
313F00219* 200 [8] 219.1 50.8 4.5

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oThenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM MOrpyeHnemM B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

O6wwe [lononHuTtenbHas nHopmaLva BKIOYEHa B Halwy crielndrKaLmm n NpeaocTaBaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOP U3AeNWiA,

3amevaHua: NPUrOAHBIX ANA MPEAYCMOTPEHHO LIeNIW, U MPUHATHE Mep NO HeAOMYLLEHUIO NPEBbILLEHUA HOMUHAJIbHBIX 3HAUEHWI AaBAEHUA U
NPOV3BOANTENBHOCTN HeceT MPoeKTUPOBLUMK. O6A3aTeNbHO NPOYTHTE UHCTPYKLMIO MO YCTaHOBKE 1 3KCnyaTaumn. Hu B koem ciyJae He
BbIHMMalITe KOMMOHEHTbI TPYBONPOBOAA, a TaKXKe HEe NCNPaBNANTe HapylweHUs B Tpy6ONpoBoae NpeaBapuTeibHO He NMOHN3MB AaBNeHIe B chcTeme
1 He C/IUB U3 Hee XWAKOCTb. Boibripaemble MaTepuarbl v MPOKNAAKK HY>KHO CBEPATD C NepeyHeM PeKOMeHyeMbIX AnA KOHKPETHOTO NPUMeHeHNs
NPOKNaAokK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. istenen uygulama igin uygun riini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz. Madde ve conta segimi i¢in uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, End Cap

Q@ Outunry, sarnywka
@ Fitingler, kor tapa

Fig. 361: 1.1/5” BSP
Fig. 362: 2" BSP

| |
| | E-E
| |
T T

FIG. 361/362

Pipe Approx

Weight

HomwuHanbHbIn AnameTp BHeww. gnam. Tpy6bl Mpn6nu3. Bec

Anma boyu Boru OD Yaklasik agirlk
mm[“] mm kg
361M00060* 50 [2] 60.3 25 0 0.2
361M00076* 65 [2.1/2] 76.1 25 9 0.4
361M00089* 80 [3] 88.9 25 15 0.5
361M00114* 100 [4] 114.3 25 28 1.3
361M00139* 125 [5] 139.7 25 40 1.8
361M00141* 125 [5] 141.3 25 41 1.8
361M00165* 150 [6] 165.1 25 53 2.7
361M00168* 150 [6] 168.3 25 54 2.7
361M00219* 200 [8] 219.1 31 79 5.0
361M00273* 250 [10] 273.0 31 90 7.2
362M00076* 65 [2.1/2] 76.1 25 3 0.4
362M00089* 80 [3] 88.9 25 9 0.5
362M00114* 100 [4] 114.3 25 22 1.3
362M00139* 125 [5] 139.7 25 34 1.8
362M00141* 125 [5] 141.3 25 34 1.8
362M00165* 150 [6] 165.1 25 47 2.7
362M00168* 150 [6] 168.3 25 48 2.7
362M00219* 200 [8] 219.1 31 73 5.0
362M00273* 250 [10] 273.0 31 90 72

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1 - oTAenka c HaHeceHunem Kpacku RAL3000, 2 - otaenka B BuAe OLMHKOBKM MOTPyXXeHNeM B pacrnnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obwwe [lononHutenbHaa nHPopmaLma BKIKOUEHa B HaluM cnelndrKaLmy 1 NpefocTaBnaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbiGOp n3penuii,

3amevaHuA: NPUrOAHBIX ANA NPeAYCMOTPEHHON LIeNW, U MPUHATYE Mep NO HeAOMYLLEHUIO MPEBbILLEHUA HOMUHAJIbHBIX 3HAYEHWI AABNEHUA U
NPOU3BOANTENBHOCTU HeceT MPoeKTUPOBLUMK. OBA3aTENbHO NPOYTUTE MHCTPYKLVIO MO YCTaHOBKE U 3KCnayaTaumn. Hu B Koem ciyyae He
BbIH/IMaiiTe KOMMOHEHTbI TPYOONPOBOAR, @ TaKKe He UCNPaBNANTE HapyLLeHVA B TPy6ONpoBoAe NpefiBapuTeNbHO He NOHN3KB JaBNeHne B cucTeMe
1 He CJIB U3 Hee XWUAKOCTb. Bbibripaemble MaTepuanbl v MPOKNAAKM HYXKHO CBEPATD C MepeyHeM PEKOMEHAYEMbIX ANA KOHKPETHOTO MPUMeHeHNA
NPOKNagoK.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiriniz. istenen uygulama icin uygun Griinii segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin parcalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta segimi icin uygulama tiirlerine uygun 6nerilmis contalarin kullaniimasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, Hydrant Tee

@ OUTUHIN, IMAPaHTHDIN TPOMHUK
@ Fitingler, hidrant T eki

Tyco BSP Nominal Pipe Hydrant Max. Wk Approx
Art. No. Size oD Outlet Pressuret Weight
HomuHanbHbIi Anametp Bhew. anam. Bbinyck ruapanTa Makc. pab. paBneHve Mpubnus. sec

Anma boyu Boru OD Hidrant cikis Azami galisma Yaklasik agirlik
basincit

mm[“] mm mm bar [psi] kg
222V42262 100 [4] 14.3 R7 [DN65] 20.7 [300] 190.0 70.0 133.0 4.6

Available in hot dipped galvanizing only/
VimeeTca ToNbKo OLMHKOBKa NOrpyXeHnem B pacnnas/
Yalnizca sicak daldirmali galvanize olarak bulunmaktadir/

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

Obwue [ononHuTtenbHas nHopmaLvaA BKIOYEHa B Haly cnielndrKaLmm n NpeaocTaBaeTca no 3anpocy. OTBETCTBEHHOCTb 3a BbIGOp U3Aenuii,

3amevaHuA: NPUrofiHbIX ANA NPeAyCMOTPEHHO Lieni, U MPUHATIAE Mep NO HeIOMYLLEHMIO NPEBbIlLEHUA HOMUHAMbHBIX 3HaYeHNI AaBNeHNA 1
NpoV3BOANTENbHOCTN HeceT MPoeKTUPOBLLMK. O6A3aTeNbHO NPOYTITE UHCTPYKLIMIO NO YCTaHOBKE 1 3KCnyaTaumn. Hy B Koem cnyyae He
BbIHMMaiiTe KOMMOHEHTbI TPY6ONPOBO/A, a TakXe He 1CNpaBnAiTe HapyleHUa B TPy6onpoBoge NpeaBapUTeNibHO He NMOHW3MB AaBNeHe B cucTeme
1 He CIB U3 Hee XNAKOCTb. Bbibrpaemble maTepuanbl v NPOKNafKN HYKHO CBEPATb C NepeyHemM PeKOMEHyeMbIX ANA KOHKPETHOrO NMpUMEeHeHNA
NpPOKNafokK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde bagvurunuz karsiliginda veri dosyalarimizi size ulastiririz. Istenen uygulama icin uygun riinii se¢mek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gerceklestirmeden asla ne borularin pargalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi icin uygulama tirlerine uygun 6nerilmis contalarin kullanilmasi
gerekmektedir.

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Concentric Reducer

@@ OuTtnHrn, KoHUueHTPUYECKNIl NepexogHIK
@ Fitingler, konsantrik rediiksiyon

Nominal Pipe Approx

Size oD Weight

HomuHanbHbIl guametp BHeLu. anam. TpyGbi Mpn6nu3. Bec

Anma boyu Boru OD Yaklasik agirlik
mm[“] mm kg
250M01510* 40x25(1.1/2x1] 48.3x33.7 63.5 0.3
250M02010* 50x25 [2x1] 60.3x33.7 63.5 0.4
250M02012* 50x32 [2x1.1/4] 60.3x42.4 63.5 0.5
250M02015* 50x40 [2x1.1/2] 60.3x48.3 63.5 0.6
250M02520* 65x50 [2.1/2x2] 73.0x60.3 63.5 0.5
250M02615* 65x40 [2.1/2x1.1/2] 76.1x48.3 63.5 0.7
250M02620* 65x50 [2.1/2x2] 76.1x60.3 63.5 0.8
250M03020* 80x50 [3x2] 88.9x60.3 63.5 0.6
250M03025* 80x65 [3x2.1/2] 88.9x73.0 63.5 0.7
250M03026* 80x65 [3x2.1/2] 88.9x76.1 63.5 0.9
250M04220* 100x50 [4x2] 114.3x60.3 76.2 1.0
250M04225* 100x65 [4x2.1/2] 114.3x73.0 76.2 1.1
250M04226* 100x65 [4x2.1/2] 114.3x76.1 76.2 1.5
250M04230* 100x80 [4x3] 114.3x88.9 76.2 14
250M05230* 125x80 [5x3] 139.7x88.9 89.0 1.9
250M05242* 125x100 [5x4] 139.7x114.3 89.0 2.0
250M05342* 125x100 [5x4] 141.3x114.3 89.0 2.0
250M06230* 150x80 [6x3] 165.1x88.9 102.0 25
250M06242* 150x100 [6x4] 165.1x114.3 102.0 2.7
250M06252* 150x125 [6x5] 165.1x139.7 102.0 25
250M06320* 150x50 [6x2] 168.3x60.3 102.0 2.7
250M06326* 150x65 [6x2.1/2] 168.3x76.1 102.0 2.7
250M06342* 150x100 [6x4] 168.3x114.3 102.0 2.7
250M06352* 150x125 [6x5] 168.3x139.7 102.0 2.7
250M06353* 150x125 [6x5] 168.3x141.3 102.0 2.9

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1 - oTAenka c HaHeceHunem Kpacku RAL3000, 2 - otaenka B BuAe OLVHKOBKM NOTPyXeHnemM B pacrnnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Fittings, Concentric Reducer

@@ OuTtnHrn, KoHUueHTPUYECKNIl NepexogHIK
@ Fitingler, konsantrik rediiksiyon

Nominal i Approx
Size Weight

HomuHanbHbIn arnameTp BHeLw. anam. Tpy6bl MNpu6nu3. sBec
Boru OD

Anma boyu Yaklasik agirhk

mm[“] mm kg
350F01210* 32x25[1.1/4x1] 42.2x33.7 63.5 0.3
350F01512* 40x32[1.1/2x1.1/4] 48.3x42.4 63.5 0.3
350F02610* 65x25[2.1/2x1] 76.1x33.7 190.0 0.6
350F02612* 65x32[2.1/2x1.1/4] 76.1x42.4 190.0 0.7
350F04241* 100x100[4x4] 114.3x108.0 140.0 1.5
350F06330* 150x80[6x3] 168.3x88.9 240.0 3.1
350F06361* 150x150[6x6] 168.3x159.0 140.0 3.2
350F08042* 200x100[8x4] 219.1x114.3 250.0 4.4
350F08052* 200x125[8x5] 219.1x139.7 250.0 4.7
350F08053* 200x125[8x5] 219.1x141.3 250.0 4.7
350F08062* 200x150[8x6] 219.1x165.1 250.0 5.0
350F08063* 200x150[8x6] 219.1x168.3 250.0 5.0
350F01142* 250x100[10x4] 273.0x114.3 278.0 7.0
350F01162* 250x150[10x6] 273.0x165.1 278.0 77
350F01163* 250x150[10x6] 273.0x168.3 278.0 77
350F01180* 250x200[10x8] 273.0x219.1 278.0 1.3
350F01362* 300x150[12x6] 323.9x165.1 303.0 1.3
350F01363* 300x150[12x6] 323.9x168.3 303.0 1.3
350F01380* 300x200[12x8] 323.9%x219.1 303.0 16.3
350F01311* 300x250[12x10] 323.9x273.0 303.0 17.2

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenka c HaHeceHunem Kpacku RAL3000, 2 - otaenka B BuAe OLMHKOBKM NOTPyXeHnemM B pacrnnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Fittings, Eccentric Reducer

@ @OUTUHIN, BHELLEHTPOBbI NepexXofHUNK
@ Fitingler, eksantrik rediiksiyon

Fabricated/
CobpaHHbiin/
Ozel islenmis

Nominal Pipe Approx
Size (0))) Weight
HomuHanbHbIi guametp BHeLw. anam. TpyGbi Mpnbnu3. Bec
Anma boyu Boru OD Yaklasik agirhk
mm[“] mm kg
351F02010* 50x25 [2x1] 60.3x33.7 241.3 1.2
351F02012* 50x32 [2x1.1/4] 60.3x42.4 241.3 1.2
351F02015* 50x40 [2x1.1/2] 60.3x48.3 241.3 1.8
351F02615* 65x40 [2.1/2x1.1/2] 76.1x48.3 241.3 1.9
351F02620* 65x50 [2.1/2x2] 76.1x60.3 241.3 2.0
351F03020* 80x50 [3x2] 88.9x60.3 241.3 2.8
351F03026* 80x65 [3x2.1/2] 88.9x76.1 241.3 2.8
351F04220* 100x50 [4x2] 114.3x60.3 254.0 3.6
351F04226* 100x65 [4x2.1/2] 114.3x76.1 254.0 3.7
351F04230* 100x80 [4x3] 114.3x88.9 254.0 4.1
351F05230* 125x80 [5x3] 139.7x88.9 279.4 5.7
351F05242* 125x100 [5x4] 139.7x114.3 279.4 5.9
351F06320* 150x50 [6x2] 168.3x60.3 292.1 6.7
351F06330* 150x80 [6x3] 168.3x88.9 292.1 6.9
351F06342* 150x100 [6x4] 168.3x114.3 292.1 71
351F06352* 150x125 [6x5] 168.3x139.7 292.1 72
351F08063* 200x150 [8x6] 219.1x168.3 304.8 10.9
351F01180 250x200 [10x8] 273.0x219.1 330.2 16.8

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 -oTaenka c HaHeceHnem Kpackn RAL3000, 2 - otaenka B BMA€e OLMHKOBKM NOTpyKeHneM B pacnnas
* =1 boyall RAL3000 kaplamasi igin, 2 sicak daldirmali galvanize kaplama

General notes: Additional information is included in our data sheets and is available upon request. It is the Designer’s responsibility to select
products suitable for the intended service and to ensure that pressure ratings and performance data is not exceeded. Always read
and understand the installation instructions. Never remove any piping components nor correct or modify any piping deficiencies
without first depressurizing and draining the system. Material and gasket selection should be verified with the gasket recommen-
dation listing for the specific application.

06IJ.|,I/I€ ﬂOI‘IOHHVITeﬂbHaH VIH¢OpMaL|I/IH BKNKOYEHa B Hawn CI'IEL[I/Iq)I/IKaLlI/II/I n NpefocTaBnAeTca nNo 3anpocy. OTBETCTBEHHOCTb 3a Bbl60p MSHEHMﬁ,

3amMeyaHusa: npurogHbIix ona npe,quMOTpeHHoﬁ uenn, u npuHATNE Mep no HeJonyLweHuo NpeBbileHna HOMUHANbHbIX 3HauYeHui AaBlieHnA n
NPOU3BOANTENBHOCTU HeceT MPoeKTUPOBLUMK. O6A3aTENbHO NPOYTUTE MHCTPYKLMIO MO YCTaHOBKE U 3KCnayaTaumn. Hu B Koem ciyyae He
BbIH/IMaWiTe KOMMOHEHTbI TPYOONPOBOAR, @ TaKXKe HE UCNPaBNANTE HapyLLeHVA B TPy6ONpPOBOAe NpefBapuTeNbHO He MOHN3VB aBNeHNE B CUCTeMe
1 He CJIB U3 Hee XWUAKOCTb. Bbibrpaemble MaTepuanbl v NPOKNAAKM HYXKHO CBEPATDL C NepeyHeM PEKOMEHAYEMbIX ANA KOHKPETHOTO MPUMeHeHNA
NPOKNafoK.

Genel notlar: Daha detayl bilgiye ulasmak istediginizde basvurunuz karsiliginda veri dosyalarimizi size ulastiririz. istenen uygulama igin uygun iiriini segmek,
basing sinirlari ve performans verilerini gegmemeyi saglamak tasarimcinin sorumlulugu altindadir. Her halukarda kurma talimatlarini okuyup onlari
anladiginiza kanaat getiriniz. Sistemin basincini almadan ve drenajini gergeklestirmeden asla ne borularin pargalarini ¢ikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye calismayiniz. Madde ve conta secimi icin uygulama tiirlerine uygun énerilmis contalarin kullanilmasi
gerekmektedir.

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Branch Outlets, Female ISO R7 Threaded Branch

@ BbixoAHble 0TBepCcTUA BeTBel, BETBb C BHyTpeHHell pe3b6oii ISO R7
@ Kaynak mansonlari, disi ISO R7 disli brans

Takeout

]
]

Nom. Pipe Size i Max End Load Hole Diameter t Approx
Run x Branch Branch AEr R e i Weight
Howm. inametp Tpy6bl Brew. qnam. Makc. koHueBas elikcapt TMpr6nu3. Bec
AL, S S
Akis hacmi x brans brans min. max.
mm [“] mm X inch mm mm mm kg
730AT2005* 50x15 [2x1/2] 60.3x1/2 1.2 38.1 41.3 66.5 124.0 78.0 53.8 404 1.0
730AT2007* 50x20 [2x3/4] 60.3x3/4 1.9 38.1 41.3 66.5 124.0 78.0 53.8 404 1.0
730AT2010* 50x25 [2x1] 60.3x1 3.0 38.1 41.3 66.5 124.0 78.0 53.8 404 1.0
730AT2012* 50x32 [2x1.1/4] 60.3x1.1/4 4.8 445 476 70.6 124.0 84.3 49.0 40.4 1.1
730AT2015* 50x40 [2x1.1/2] 60.3x1.1/2 6.3 445 476 69.9 124.0 84.3 49.0 40.4 1.1
730AT2505* 65x15 [2.1/2x1/2] 73.0x1/2 1.2 38.1 41.3 73.2 133.4 78.0 60.5 46.0 1.2
730AT2507* 65x20 [2.1/2x3/4] 73.0x3/4 1.9 38.1 41.3 73.2 133.4 78.0 60.5 46.0 1.2
730AT2510* 65x25 [2.1/2x1] 73.0x1 3.0 38.1 41.3 73.2 133.4 78.0 60.5 46.0 1.2
730AT2512* 65x32 [2.1/2x1.1/4] 73.0x1.1/4 4.8 50.8 54.0 76.2 133.4 90.4 55.6 46.0 14
730AT2515% 65x40 [2.1/2x1.1/2] 73.0x1.1/2 6.3 50.8 54.0 78.0 133.4 91.2 55.1 46.0 1.5
730MT2520* 65x50 [2.1/2x2] 73.0x2 9.9 50.8 54.0 81.0 133.4 101.6 62.0 46.0 1.6
730AT2605* 65x15 [2.1/2x1/2] 76.1x1/2 1.2 38.1 41.3 745 1427 78.0 62.0 475 1.2
730AT2607* 65x20 [2.1/2x3/4] 76.1x3/4 1.9 38.1 41.3 745 142.7 78.0 62.0 475 1.2
730AT2610* 65x25 [2.1/2x1] 76.1x1 3.0 38.1 41.3 745 1427 78.0 62.0 475 1.2
730MT2612* 65x32 [2.1/2x1.1/4] 76.1x1.1/4 4.8 50.8 54.0 777 1427 90.4 572 475 14
730MT2615* 65x40 [2.1/2x1.1/2] 76.1x1.1/2 6.3 50.8 54.0 79.5 1427 904 572 475 1.5
730MT2620* 65x50 [2.1/2x2] 76.1x2 9.9 63.5 66.7 82.6 142.7 101.6 63.5 475 19
730MT3005* 80x15 [3x1/2] 88.9x1/2 1.2 38.1 41.3 81.0 155.7 78.0 65.0 56.1 1.7
730MT3007* 80x20 [3x3/4] 88.9x3/4 1.9 38.1 41.3 81.0 155.7 78.0 65.0 56.1 1.7
730MT3010* 80x25 [3x1] 88.9x1 3.0 38.1 41.3 81.0 155.7 78.0 65.0 56.1 1.7
730MT3012* 80x32 [3x1.1/4] 88.9x1.1/4 4.8 44,5 476 84.8 155.7 84.3 63.5 56.1 18
730MT3015* 80x40 [3x1.1/2] 88.9x1.1/2 6.3 50.8 54.0 85.9 155.7 90.4 63.0 56.1 1.9
730MT3020* 80x50 [3x2] 88.9x2 9.9 63.5 66.7 88.9 155.7 103.9 69.9 56.1 2.1
730MT4205* 100x15 [4x1/2] 14.3x1/2 1.2 38.1 41.3 93.7 181.1 78.0 777 70.6 2.5
730MT4207* 100x20 [4x3/4] 114.3x3/4 1.9 38.1 41.3 93.7 181.1 78.0 777 70.6 2.5
730MT4210* 100x25 [4x1] 114.3x1 3.0 38.1 41.3 93.7 1811 78.0 777 70.6 2.5
730AT4212* 100x32 [4x1.1/4] 14.3x1.1/4 4.8 44.5 47.6 99.6 181.1 84.3 76.2 70.6 2.5
730AT4215* 100x40 [4x1.1/2] 114.3x1.1/2 6.3 50.8 54.0 101.6 181.1 90.4 75.7 70.6 2.5
730MT4220% 100x50 [4x2] 114.3x2 9.9 63.5 66.7 101.6 181.1 103.1 82.6 70.6 2.7
730MT4226* 100x65 [4x2.1/2] 114.3x2.1/2 14.4 69.9 73.0 101.6 181.1 111.3 79.2 70.6 2.7
730MT4230* 100x80 [4x3] 114.3x3 214 88.9 92.1 104.9 181.1 130.3 84.1 70.6 3.2
730MT5315* 125x40 [5x1.1/2] 139.7/141.3x1.1/2 6.3 50.8 54.0 1176 206.5 90.4 101.6 85.6 2.9
730MT5320% 125x50 [5x2] 139.7/141.3x2 9.9 63.5 66.7 1176 206.5 103.1 98.6 85.6 3.2
730MT5326* 125x65 [6x2.1/2] 139.7/141.3x2.1/2 14.4 69.9 73.0 120.7 206.5 111.3 98.6 85.6 3.3
730MT5330* 125x80 [5x3] 139.7/141.3x3 214 88.9 92.1 127.0 206.5 130.3 103.1 85.6 3.4
730AT6212* 150x32 [6x1.1/4] 168.3x1.1/4 4.8 50.8 54.0 130.3 235.0 90.4 108.0 99.1 3.4
730AT6215* 150x40 [6x1.1/2] 165.1x1.1/2 6.3 50.8 54.0 130.3 235.0 90.4 102.6 99.1 3.4
730AT6220* 150x50 [6x2] 165.1x2 9.9 63.5 66.7 130.3 235.0 103.1 109.5 99.1 3.4
730AT6226* 150x65 [6x2.1/2] 165.1x2.1/2 14.4 69.9 73.0 130.3 235.0 111.3 106.2 99.1 34
730AT6230* 150x80 [6x3] 165.1x3 214 88.9 92.1 139.7 235.0 130.3 111.0 99.1 4.3
730MT6312* 150x32 [6x1.1/4] 168.3x1.1/4 4.8 50.8 54.0 130.3 235.0 90.4 108.0 99.1 3.4
730AT6315* 150x40 [6x1.1/2] 168.3x1.1/2 6.3 50.8 54.0 130.3 235.0 90.4 102.6 99.1 3.4
730AT6320* 150x50 [6x2] 168.3x2 9.9 63.5 66.7 130.3 235.0 103.1 109.5 99.1 34
730AT6326* 15065 [6x2.1/2] 168.3x2.1/2 14.4 69.9 73.0 130.3 235.0 111.3 106.2 99.1 3.4
730AT6330* 150x80 [6x3] 168.3x3 21.4 88.9 92.1 139.7 235.0 130.3 111.0 99.1 4.3
730AT8026* 200x65 [8x2.1/2] 219.1x2.1/2 14.4 69.9 73.0 158.8 3175 111.3 130.0 124.5 4.6
730AT8030* 200x80 [8x3] 219.1x3 21.4 88.9 92.1 165.1 3175 130.3 136.4 124.5 5.7

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
* =1 - oTAenKa ¢ HaHeceHVem Kpacku RAL3000, 2 - oTaenka B By OLMHKOBKM NOrpyXeHnem B pacnias
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Sprinkler Fittings, Branch Outlets

@ CnpunknepHbie GuTUHIY, BbIXOAHDIE OTBEPCTUA BETBEN

@ Sprinkler Kelepcesi, disli brans

Nom. Pipe Size
Run x Branch

Hom. inameTp Tpy6bl
HwuTka x BeTBb
Anma Boru boyu
Akis hacmi x brans

mm [“]

bar [psi]

522F1005* 25x15 [1x1/2] 20.7 [300]
522F1007* 25x20 [1x3/4] 20.7 [300]
522F1010* 25x25 [1x1] 20.7 [300]
522F1203* 32x10 [1.1/4x3/8] 20.7 [300]
522F1205* 32x15 [1.1/4x1/2] 20.7 [300]
522F1207* 32x20 [1.1/4x3/4] 20.7 [300]
522F1210* 32x25 [1.1/4x1] 20.7 [300]
522F1505* 40x15 [1.1/2x1/2] 20.7 [300]
522F1507* 40x20 [1.1/2x3/4] 20.7 [300]
522F1510* 40x25 [1.1/2x1] 20.7 [300]
522F2005* 50x15 [2x1/2] 20.7 [300]
522F2007* 50x20 [2x3/4] 20.7 [300]
522F2010* 50x25 [2x1] 20.7 [300]
522F2605* 65x15 [76.1mmx1/2] 20.7 [300]
522F2607* 65x20 [76.1mmx3/4] 20.7 [300]
522F2610* 65x25 [76.1mmx1] 20.7 [300]

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish

Each branch connection can be made by drilling a one size hole: 24.0mm;

+0.5mm/-0.0mm, with the exception of 2” x 1” and

76.1 mm x 1” which requires an hole with diameter 34.9 mm; +0.5/-0.0 mm.

General notes: Additional information is included in our data sheets
and is available upon request. It is the Designer’s
responsibility to select products suitable for the
intended service and to ensure that pressure ratings
and performance data is not exceeded. Always read
and understand the installation instructions. Never
remove any piping components nor correct or modify
any piping deficiencies without first depressurizing
and draining the system. Material and gasket selection
should be verified with the gasket recommendation
listing for the specific application.

*=1 - oTAenka c HaHeceHunem Kpacku RAL3000, 2 - otaenka B Buje OLMHKOBKM
norpy»eHviem B pacnnas

Jio6oe coefHeHNe BETBY NPOM3BOANTCA NyTEM NPOCBEPNNBAHNA OTBEPCTUI
opHoro avametpa: 24,0 mm; +0,5 mm/-0,0 mm, 3a ucknoueHvem 2”x 1" n

76,1 mm x 1", yto TpebyeT oTBEPCTUA AamMeTpom 34,9 mm; +0,5 /-0,0 mm.

O6wme JlononHuTenbHan MHPopMaLna BKNOUYEHa B HaLLW

3ameyaHua: cneyndurKaumn 1 NpesoCcTaBAETCA MO 3anpocy.
OTBETCTBEHHOCTb 3a BbIGOP VM3[ENNIA, MPUrOAHDBIX ANA
NpefycMOTPEHHON LieNu, U NPUHATIE Mep MO HeAoMyLEHNIO
NpeBbILIEHNA HOMUHATbHBIX 3HAUEHWI AaBNEHNA 1
NPOU3BOANTENLHOCTY HeceT MpoeKTnpoBLKK. O6A3aTeNbHO
NPOUTUTE MHCTPYKLMIO MO YCTAHOBKE 1 3KCnnyaTaumu. Hu
B KOEM CJlyyae He BbIHMMalTe KOMMOHEHTbI TPY60NpoBOAa,
a TaKKe He NCMPaBNATe HapyLIeHUA B Tpy6onposoge
npefBapuTENbHO He MOHU3MB flaBfieHe B CUCTEME 1
He CNB 13 Hee XNAKOCTb. Bbibrpaemble MaTepuansl n
NPOKNaAKN HY>KHO CBEPATD C MepeyHemM PeKoMeHAYeMbIX Ans
KOHKPETHOTO NMPpUMeHEHNA NPOKNazAoK.

* =1 boyali RAL3000 kaplamas! icin, 2 sicak daldirmali galvanize kaplama

Her brans baglantisi tek boylu bir delik delmekle gerceklestirilebilir: 24.0mm;

+0.5mm/-0.0mm. 2" x 1" ve 76.1mm x 1" hari¢. Bunlar 34.9 mm ve +0.5/-0.0mm

bir delik gerektirmektedir.

Genel notlar: Daha detayli bilgiye ulasmak istediginizde basvurunuz
karsiliginda veri dosyalarimizi size ulastiririz. istenen
uygulama igin uygun Uriinii segmek, basing sinirlari ve
performans verilerini gegmemeyi saglamak tasarimcinin
sorumlulugu altindadir. Her halukarda kurma talimatlarini
okuyup onlari anladiginiza kanaat getiriniz. Sistemin
basincini almadan ve drenajini gergeklestirmeden asla
ne borularin pargalarini gikarin ne de boru sisteminin
bozukluklarini diizeltmeye veya degistirmeye ¢alismayiniz.
Madde ve conta segimi icin uygulama tirlerine uygun
onerilmis contalarin kullaniimasi gerekmektedir.

Max End Load A B Approx
[Branch] Weight
Makc. KoHLeBas Mpu6nus. Bec
Harpyska, [BeTBb] Yaklasik agirlik
Azami ug yuki,
[brang]
[\ ]
738 26.2 83.6 493 112 241 0.4
1.156 417 83.6 493 254 241 0.5
1.156 417 83.6 493 254 241 0.5
738 31.0 96.0 56.9 16.0 28.2 0.4
738 31.0 96.0 56.9 16.0 28.2 0.4
1.156 46.5 96.0 56.9 30.2 28.2 0.5
1.810 51.1 96.0 56.9 32.0 28.2 0.6
738 33.5 100.6 56.9 185 315 0.5
1.156 490 100.6 56.9 32.8 315 0.5
1.810 53.6 100.6 56.9 345 315 0.6
738 39.6 113.3 56.9 24.6 38.9 0.6
1.156 55.1 113.3 56.9 38.9 38.9 0.7
1.810 59.7 113.3 63.5 40.6 38.9 0.7
738 52.1 130.0 56.9 371 495 0.7
1.156 65.6 130.0 56.9 49.3 495 0.8
1.810 70.1 130.0 63.5 511 495 0.8
MATERIAL SPECIFICATION
Housing: ASTM A-27 Cast Steel Grade 70-40
Gasket: EPDM Grade E
Bolt: DIN 933 M8 x 30 mm Class 8.8
Nu DIN 934 Class 8

t
Bolt/Nut Finish: Zinc electroplated followed by yellow chromate
dip
Zinc electroplated conforming to ASTM B633
Type Il Service 2 Alternative RAL3000 Coated

Coating:

XAPAKTEPUCTUKN MATEPUAJIA

Kopnyc: ASTM A-27, nuTan ctanb copTa 70-40
Mpoknapka: SMAM knacca E

Bonr: DIN 933 M8 x 30 mm, knacc 8.8
lanka: DIN 934, knacc 8

OTaenka 6onToB/raek: [anbBaHUYECKOE LIMHKOBOE MOKPbITHE, 38 KOTOPbIM
CneflyeT Norpy»KeHue B XXenTblil XxpomaT

[anbBaHMYecKoe UMHKOBOE MOKpbITUe cornacHo ASTM

MokpeiTue: B633 Type lll Service 2, anbTepHaTBHasA oKpacka
- uset RAL3000
URUN TANIMLANMASI
Mahfaza: ASTM A-27 dokiim gelik derece 70-40
Conta: EPDM derece E
Civata: DIN 933 M8 x 30 mm sinif 8.8
Somun: DIN 934 sinif 8
Civata/ somun
kaplamasi: Cinko elektrik kaplamali, sart kromat daldirmasi ile
Kaplama: Cink elektrik kaplamali, ASTM B633'e uygun, tip Il

hizmet 2 alternatif RAL3000 kaplama

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Branch Outlets, Grooved Branch

@ BbixofHble OTBepPCTUA BeTBell, BeTBb C Nasamm
@ Mekanik Tee (Hirsiz Kelepce), yivli brans

[ves|<ew> @@ TsU &
C

-

[ T

FIG. 730 GRV

Tyco BSP Nom. Pipe Size i Max End Load Hole Diameter t A Approx
Art. No. Run x Branch Branch Avavetp oteepcTun t Weight
Hom. [nameTp Tpy6bi BHelw. avam. Tpy6bl Makc. KoHueBas Delik capt Mpr6nu3. Bec
HuTKa X BeTBb. Boru OD Harpyska, BeTBb 1 Yaklasik agirlk
Anma Boru boyu Azami ug ytik,
Akis hacmi x brang brans* min. max.

mm [“] mm X inch mm mm mm kg
730AG2012* 50x32 [2x1.1/4] 60.3x42.4 4.8 44.5 476 70.6 124.0 84.3 40.4 1.1
730AG2015* 50x40 [2x1.1/2] 60.3x48.3 6.3 44.5 47.6 66.5 124.0 84.3 404 1.1
730AG2512* 65x32 [2.1/2x1.1/4] 73.0x42.4 4.8 50.8 54.0 76.2 133.4 90.4 46.0 14
730AG2515* 65x40 [2.1/2x1.1/2] 73.0x48.3 6.3 50.8 54.0 78.0 1334 912 46.0 1.5
730MG2612* 65x32 [2.1/2x1.1/4] 76.1x42.4 4.8 50.8 54.0 777 142.7 90.4 475 14
730MG2615* 65x40 [2.1/2x1.1/2] 76.1x48.3 6.3 50.8 54.0 79.5 142.7 90.4 475 1.5
730MG2620* 65x50 [2.1/2x2] 76.1x60.3 9.9 63.5 66.7 82.6 142.7 101.6 475 1.9
730MG3012* 80x32 [3x1.1/4] 88.9x42.4 4.8 44.5 476 84.8 155.7 84.3 56.1 1.8
730MG3015* 80x40 [3x1.1/2] 88.9x48.3 6.3 50.8 54.0 85.9 155.7 90.4 56.1 1.9
730MG3020* 80x50 [3x2] 88.9x60.3 9.9 63.5 66.7 88.9 155.7 103.9 56.1 2.1
730AG4212* 100x32 [4x1.1/4] 114.3x42.4 4.8 445 47.6 99.6 181.1 84.3 70.6 25
730AG4215* 100x40 [4x1.1/2] 114.3x48.3 6.3 50.8 54.0 101.6 181.1 90.4 70.6 25
730MG4220* 100x50 [4x2] 114.3x60.3 9.9 63.5 66.7 101.6 1811 103.1 70.6 2.7
730MG4225* 100x65 [4x2.1/2] 114.3x73.0 14.4 69.9 73.0 101.6 181.1 111.3 70.6 2.7
730MG4226* 100x65 [4x2.1/2] 114.3x76.1 15.7 69.9 73.0 101.6 181.1 111.3 70.6 2.7
730MG4230* 100x80 [4x3] 114.3x88.9 21.4 88.9 92.1 104.9 181.1 130.3 70.6 3.2
730MG5315* 125x40 [5x1.1/2] 139.7/141.3x48.3 6.3 50.8 54.0 1176 206.5 90.4 85.6 2.9
730MG5320* 125x50 [5x2] 139.7/141.3x60.3 9.9 63.5 66.7 117.6 206.5 103.1 85.6 3.2
730MG5325* 125x65 [5x2.1/2] 139.7/141.3x73.0 14.4 69.9 73.0 120.7 206.5 111.3 85.6 3.3
730MG5326* 125x65 [56x2.1/2] 139.7/141.3x76.1 15.7 69.9 73.0 120.7 206.5 111.3 85.6 3.3
730MG5330* 125x80 [5x3] 139.7/141.3x88.9 21.4 88.9 92.1 127.0 206.5 130.3 85.6 3.4
730AG6220* 150x50 [6x2] 165.1x60.3 9.9 63.5 66.7 130.3 235.0 103.1 99.1 34
730AG6225* 150x65 [6x2.1/2] 165.1x73.0 14.4 69.9 73.0 130.3 235.0 111.3 99.1 3.4
730AG6226* 150x65 [6x2.1/2] 165.1x76.1 15.7 69.9 73.0 130.3 235.0 111.3 99.1 3.4
730AG6242* 150x100 [6x4] 165.1x114.3 35.4 114.3 1175 136.7 235.0 155.7 99.1 4.5
730MG6312* 150x32 [6x1.1/4] 168.3x42.4 4.8 50.8 54.0 130.3 235.0 90.4 99.1 3.1
730AG6315* 150x40 [6x1.1/2] 168.3x48.3 6.3 50.8 54.0 130.3 235.0 90.4 99.1 3.4
730AG6320* 150x50 [6x2] 168.3x60.3 9.9 63.5 66.7 130.3 235.0 103.1 99.1 3.4
730AG6325* 150x65 [6x2.1/2] 168.3x73.0 14.4 69.9 73.0 130.3 235.0 111.3 99.1 3.4
730AG6326* 150x65 [6x2.1/2] 168.3x76.1 15.7 69.9 73.0 130.3 235.0 111.3 99.1 3.4
730AG6330* 150x80 [6x3] 168.3x88.9 21.4 88.9 92.1 139.7 235.0 130.3 99.1 4.3
730AG6342* 150x100 [6x4] 168.3x114.3 35.4 114.3 1175 136.7 235.0 155.7 99.1 4.5
730AG8030* 200x80 [8x3] 219.1x88.9 21.4 88.9 92.1 165.1 3175 130.3 124.5 5.7
730AG8042* 200x100 [8x4 219.1x114.3 35.4 114.3 1175 162.1 3175 155.7 124.5 5.7

* =1 for painted RAL3000 finish, 2 for hot dipped galvanized finish
*=1-oTaenka c HaHeceHnem Kpackn RAL3000, 2 - oTaenka B Bue OLMHKOBKM NOrpyeHnem B pacnnas
* =1 boyali RAL3000 kaplamasi icin, 2 sicak daldirmali galvanize kaplama

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Gaskets, “C” Style

@@ nNpoknagku, crune “C”
@ Contalar, "C" Tipi

C-STYLE

C-Style
Nom. Size Pipe OD
HomuHanbHbIn grameTp BHeLw. gnam.
Anma boyu Boru OD
mm [“] mm
10EPDM 10BUNA 25 [1] 33.7 0.040
12EPDM 12BUNA 32 [1.1/4] 42.4 0.050
15EPDM 15BUNA 40 [1.1/2] 48.3 0.050
20EPDM 20BUNA 50 [2] 60.3 0.060
25EPDM 25BUNA - [2.1/2] 73.0 0.050
26EPDM 26BUNA 65 [2.1/2] 76.1 0.060
30EPDM 30BUNA 80 [3] 88.9 0.060
41EPDM 41BUNA 100 [4] 108.0 0.110
42EPDM 42BUNA 100 [4] 114.3 0.110
51EPDM 51BUNA 125 [5] 133.0 0.140
52EPDM 52BUNA 125 [5] 139.7 0.135
53EPDM 53BUNA =1[5] 141.3 0.070
61EPDM 61BUNA 150 [6] 159.0 0.150
62EPDM 62BUNA 150 [6] 165.1 0.160
63EPDM 63BUNA 150 [6] 168.3 0.042
80EPDM 80BUNA 200 [8] 219.1 0.280
11EPDM 11BUNA 250 [10] 273.0 0.080
13EPDM 13BUNA 300 [12] 323.9 0.100

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice

Tyco Building Services Products




Gaskets, Tri Seal

@ Mpoknaaku, Tri Seal - TpoiiHaa repmeTusauus
@ Contalar, Tri dolgusu

TRI SEAL

Tri Seal
Nominal Size Pipe OD
HomuHanbHbIn grameTp BHeLw. anam. Tpy6bi

Anma boyu Boru OD

mm[“] mm
15EPDM-TRI 40 [1.1/2] 48.3 0.040
20EPDM-TRI 50 [2] 60.3 0.040
26EPDM-TRI 65 [2.1/2] 76.1 0.050
30EPDM-TRI 80 [3] 88.9 0.060
42EPDM-TRI 100 [4] 114.3 0.110
62EPDM-TRI 150 [6] 165.0 0.050
63EPDM-TRI 150 [6] 168.3 0.160
80EPDM-TRI 200 [8] 219.1 0.290
1T1EPDM-TRI 250 [10] 273.0 0.290
13EPDM-TRI 300 [12] 82310 0.450

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Lubricant

Q@ Cmaska

@ Nemlendiriciler

LUBRICAN

Lubricant /Cma3ka/Nemlendiriciler

Description
Onucaxne

Tanimlama

70008E English Label /Apnbik Ha aHrn. asbike /ingilizce etiket 1.000
70009E German Label/Apnbik Ha Hemel,. A3bike /Almanca etiket 1.000
70010E French Label /Apnbik Ha dpaHL. Aa3bike /Fransizca etiket 1.000
7001ME Dutch Label/fipnbik Ha ronnaHg. asbike/Flemenkge etiket 1.000
70013E Spanish Label /Apnbik Ha ncnan. ssbike /ispanyolca etiket 1.000
70015E Swedish Label /Apnbik Ha ween. asbike/Isvecce etiket 1.000

Lubricant Quick Dry/BoictpofeicTsyiolas cyxaa cmaska/“Quick Dry” nemlendiricisi

Description
OnwucaHne

Tanimlama

70008B English Label /Apnbik Ha anrn. asbike /ingilizce etiket 1.000
70009B German Label/Apnbik Ha Hemel. A3bike /Almanca etiket 1.000
70010B French Label /Apnbik Ha dpaHL,. Aa3bike /Fransizca etiket 1.000
70011B Dutch Label/Apnbik Ha ronnang. asbike /Flemenkge etiket 1.000
70013B Spanish Label /Apnbik Ha ncna. asbike /ispanyolca etiket 1.000
70015B Swedish Label/fpnbik Ha Wweea. Asbike /isvecce etiket 1.000

Lubricant GETL High temperature] /Cpaska GETL [BbicoKOTEMNEpaTypHas] / Nemlendiriciler GETL [yiiksek ysy]

Description
Onuncanve

Tanimlama

8000A English Label/Apnbik Ha aHrn. a3bike /ingilizce etiket 1.000
8000B English Label/fpnbik Ha anrn. si3bike /ingilizce etiket 0.454

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice




Pipe Preparation Tools

G VncrpymenT ana noarotoskm Tpy6
@ Boru hazirlama aletleri

Grooving Tool Groover 10A
MawwHa gnsa narotoBneHusa nasos Groover 10A P 8.040
Yiv agma makinasi 10A

Grooving Tool Groover 10A
MawwvHa ana nsrotosneHns nasos Groover 10A P 8.040
Yiv agma makinasi 10A

HCT Support Figure HCTool
Kpennenue HCT, nos. HCTool P 8.041
HCT destek, Figure HCTool

Groove Measurement Tape
JleHta ona nsmepeHus nasos P 8.041
Yiv 6lgme aparasi

Tyco Building Services Products 8.039

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



Pipe Preparation Tools, Grooving Tool

@ ViHcTpymenTbl AnA NOAroTOBKN TPY6, NHCTPYMEHT ANA N3rOTOBNEHNA Na30B

@ Boru hazirlama aletleri, yiv agma makinasi

Grooving Tool /MawwuHa ans nsrotoenexvs na3os/Yiv agma makinasi

Size Power Supply Description
Nunametp OneKTpocHabxeHne Onucanve
Boy Gug kaynagi Tanimlama
mm [“]
GROOVER10A  33.7-219.1 [1-8]  220VAC 50Hz Portable G with Pipestand /Moy yCTpoiicrao AnA Na308 ¢ NoAcrasKoit 4n 1pyBsi /Boru sehpali taginir yivagicisi 107
GROO10A-UK  33.7-219.1 [1-8] 110VAC 50Hz Portable Groover with Pipestand /Moprarisoe ycrpoilcTeo A1 W3roToBnexia na3o ¢ nofcrasKoii ana 1pyGbi /Boru sehpali tasinir yiv agicisi 107
STAND 33.7-219.1 [1-8] Pipestand /Mopctaska na Tpy6 /Boru sehpasi 15

GROOVER 02 OOVER 01

Grooving Tool /MawwuHa gns nsrotoenexvs nasos/Yiv agma makinasi

Power Supply Description
OneKTpoCcHabxeHue Onucanvne
Gug kaynagi Tanimlama

GROOVERO1 42.4-457.2 [1.1/4-18] 380VAC 50Hz  Portable Groover with Pipestand /MopratuHoe ycTpoiicTo Ans usrotosnetma nasos/Boru sehpali taginir yiv agicisi 207
GROOVER02 42.4-457.2 [1.1/4-18] 380VAC 50Hz Autom. Groover/ABTom. MaluvHa AnA u3r. nasos /Otomatik Yiv agicisi 297

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice




Pipe Preparation Tools, HCT Support

@ Vuctpymentb! ans noaroTosky Tpy6, Npucnoco6nenne AnA ceepeHns oTBepcTyii B Tpy6ax
@D Boru hazirlama aletleri, HCT destegi

HCTOOL Drill not included/
[lpenb B KOMNNEKT He BXOAUT/
Matkap, HCT destegine dahil degildir.

HCTool

Pipe Size Max. Hole @ Description
[nametp TpyObI Makc. @ otBepcTus OnucaHne
Boru boyu Azami delik capi Tanimlama

mm [“] mm [“]

HCTOOL 21.0-273.0 [1/2-10] 125 [5] Holecutting Tool /WHcTpymeHT Ans Bbipesku oteepctuii/Delik agma aleti 8.000

Pipe Preparation Tools, Groove Measurement Tape

@ NHCTpymMeHTbI AnA NOAroTOBKM TPY6, NeHTa AnA usmepeHns nasos

@D Boru hazirlama aletleri, yiv 5lgme banti

Groove Measurement Tape //leHTa gna n3mepeHuns nasos /Yiv 6lcme banti

Description
OnucaHne
Tanimlama

GRINTLPE 33.7-323.9 [1-12] Measuring Tape /W3meputenbHas nexta /Mezura 0.100
ZKLMO024 33.7-609.6 [1-24] Measuring Tape //13meputenbHan nexta /Mezura 0.100
GAUGE 33.7-323.9 [1-12] Gauge /V1ameputens /Oler 0.250

Tyco Building Services Products

TYCERTFP 03/07 Tyco reserves the right to change the contents without notice



